UPCCL Junior Engineer Trainee
Electrical Set2

Topic:- UPPCL_Feb18_JETE_Set02_TECH

1) Directions : For the Assertion (A) and Reason (R) below, choose the correct alternative:-
Assertion (A): 3 wire dc distribution system is preferred over 2 wire dc distribution system.
Reason (R): the 3 wire dc system of distribution is more safe.

fe-fader: A= Rw arv srfdumr (v) 3k FRor (3R) & faw, w@ Ree go:-

IAFYT (T): 2 aR A Rawor goreht ¥ 3 ar el RAawor yoreh #t 3rfdrF gwig fFar srar |

FTOT (HI): Ao 1 3 AR 2Nt somet arftres quiena ¥ |

[Question ID = 2439]

1. Both A and R are true and R is not the explanation of A / T 3R 31R &t T § 3iR 3R, T &7 TISEIHIIT A8 &
[Option ID = 10058]

s BRSSO Wil ETFOHATINGE™ =
3. None of these/ 5781 & 1S #ff 77EY [Option ID = 10060]
4, Ais true but R is false / T T § offohel 31X 318 & [Option ID = 10059]

Correct Answer :-
e Alistrue but R is false / T & § aifeheT 3TR 318 & [Option ID = 10059]

2) If the PIV rating of a diode is exceeded,

Tfg srE $r di3méd I 3t g o, at | [Question ID = 2453]

1. The diode conducts poorly / 38 WIS W& ST & [Option ID = 10113]

2. The diode behaves like a tunnel diode / 318 Teh TAST SIS dT AR TR T & [Option ID = 10115]
3. The diode is destroyed / 31318 A€ & STAT & [Option ID = 10114]

4. The diode behaves like a capacitor / 3/Ts HATHEX T g SIIBR T & [Option ID = 10116]

Correct Answer :-
« The diode is destroyed / 3118 e & SITdT & [Option ID = 10114]

3) Which of the following correctly defines Power?

fArfaf@a & @ siaar afFa ) 78 w7 & F Renfa Farg?

[Question ID = 2430]



1. Energy / it [Option ID = 10024]

2. Watt / aTe [Option ID = 10023]

3. The rate at which energy is used / TS & X 1T T 3UANIT fohaT SATAT & [Option ID = 10022]
4, The rate at which energy is generated / T ¥ T 3T 3c9esT 8T & [Option ID = 10021]

Correct Answer :-
« The rate at which energy is used / 5/ &3 9 il T 39T 3T SITAT & [Option ID = 10022]

4) Which of the following is required in series RLC circuit to get Q>1?

Q>1 Ut & T sj@en sRverdt afde & fawe & § 741 amaegs §?
[Question ID = 2406]

1. X < R [Option ID = 9927]
2. X, > R [Option ID = 9925]
3. X_ = R [Option ID = 9926]
4, None of these / 35137 & 15 it 18T [Option ID = 9928]

Correct Answer :-
e X > R [Option ID = 9925]

5) Which of the following comes under the category of Systematic errors in instruments?

ﬁmﬁﬁaﬁ#aﬁamjwﬁﬁﬁmnﬁﬁmﬁ%mm%?
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1. blunders / seisd [Option ID = 9779]

2. gross errors / el JfeAT [Option ID = 9780]

3. random errors / Y57 WH [Option ID = 9778]

4. instrumental errors / ¥g#cd WA [Option ID = 9777]

Correct Answer :-
« instrumental errors / $¥gHcd WA [Option ID = 9777]

6) Which of the following has highest moderating ratio?

fort & frwet s=aaw ARG srqura @2
[Question ID = 2492]

1. H,O [Option ID = 10270]

2. D,0 [Option ID = 10269]

3. Helium / €iferaa [Option ID = 10272]
4, Carbon / @TeieT [Option ID = 10271]

Correct Answer :-
e D,0 [Option ID = 10269]



7) Which of the following materials has susceptibility independent of temperature?

ot 3 & v waref # arawTe @ T wagereierar 82
[Question ID = 2419]

1. Ferromagnetic / &g @fedha [Option ID = 9979]

2. Ferrimagnetic / &g olig-gsshcd [Option ID = 9978]
3. Paramagnetic / 3=t [Option ID = 9977]

4. Diamagnetic / 9f-grehrar [Option ID = 9980]

Correct Answer :-
« Diamagnetic / 9fd-<shrar [Option ID = 9980]

8) Which of the following material is a source of piezoelectric?

e & @ Fia & aEh dogdfFes FTaa 82
[Question ID = 2384]

1. Ceramic / fXf&= [Option ID = 9839]

2. Lead alloy / @ T [Option ID = 9840]

3. Lead Zirconate Titanate / o3 faierfeie e@sesie [Option ID = 9837]
4, Quartz / sFarest [Option ID = 9838]

Correct Answer :-

« Lead alloy / &5 TaIrg [Option II? = 9840]
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9) Which of the following materials follow magnetic anisotropy?

frrafaf@a verdt # @ Fiqar gefa RvARiFar 33t #1 aree #tar 82
[Question ID = 2417]

1. Ferromagnetic / @iig dfsehrar [Option ID = 9972]

2. Ferrimagnetic / &g @g-deehcd [Option ID = 9971]
3. Paramagnetic / 37=[s<h1 [Option ID = 9969]

4. Diamagnetic / 9fd-derhrar [Option ID = 9970]

Correct Answer :-
« Ferromagnetic / @iig dfehrr [Option ID = 9972]

10) Which of the following terms is analogous to conductivity?

fovet 3 & Fler A7 Areq TrAFAT F I 82
[Question ID = 2400]

1. Inductance / 37f&rsa19eT [Option ID = 9904]
2. Permeability / 9ITEIAT [Option ID = 9902]
3. Retentivity / 9faremRoT [Option ID = 9903]
4, Resistivity / FfoRIerehdr [Option ID = 9901]



Correct Answer :-
o Permeability / 99THIAT [Option ID = 9902]

11) Which of the following falls under the category of three-pin voltage regulator ICs?

foret # & oft-Riet dietar Wpares amée Aroft # i amar 82
[Question ID = 2480]

1. Both Fixed voltage regulators and Variable current regulators / g fthereis ateesT TeleX 3R aRTee e
WTelex [Option ID = 10223]

2. Adjustable AC voltage regulator / FHTIIGT THT dlecsl f=1d1dHe® [Option ID = 10224]

3. Fixed voltage regulators / fthers aledsT ¥9elex [Option ID = 10221]

4. Variable current regulators / aRTsel sie ¥afeleX [Option ID = 10222]

Correct Answer :-

« Both Fixed voltage regulators and Variable current regulators / il ftheres atecst fele 3 aRTse #e
W [Option ID = 10223]

12) Which of the following is a ferroelectric material?

e & ¥ ST R fFerd gerd §2

[Question ID = 2356]

b D ERE S A, Lwaaw. ErForum. Net

[Option ID = 9725]
3. All of these / T3 fded [Option ID = 9728]
4, Rochelle salt / Irerer ATee [Option ID = 9727]

Correct Answer :-
o All of these / T3 fased [Option ID = 9728]

13) Which of the following are cost effective instruments?

T & ¥ Fl7 a1 AreTa T 39T §2?
[Question ID = 2426]

1. Active instruments / &fsha d [Option ID = 10006]

2. Former is passive instrument and later is active instrument / BT TSR 3gaoT § 311 Jex afsha 3ghoT &
[Option ID = 10008]

3. Former is active instrument and later is passive instrument / BT TfspT 39T § 3R ex ATSFT 3uheoT §
[Option ID = 10007]

4, Passive instruments / TfSpar I [Option ID = 10005]

Correct Answer :-
e Passive instruments / TSI I [Option ID = 10005]



14) Which of the following is true for 3.9 k resistor using color-coding technique?

frrafaf@a & Flaar or e awedes 1 vahr F& ao 3. s & Rvg Fag §2
[Question ID = 2428]

1. red, white, red, gold / aTel, @the;, #fTef, FeTgT [Option ID = 10013]

2. red, green, orange, silver / &Tel, &1, AREN, TG [Option ID = 10015]

3. orange, green, orange, silver / I3, &, A3, TTET [Option ID = 10014]
4. orange, white, red, gold / @3N, Athe, ofTel, FeTexT [Option ID = 10016]

Correct Answer :-
« orange, white, red, gold / IRaN, Ahe, #Tel, FAg<T [Option ID = 10016]

15) Which of the following generator is used in the thermal power plant?

FSHIT FaT G4 # 5T & @ Sl § ST F71 92191 fvar Srar @2
[Question ID = 2385]

1. Turbo generator / &sf STakex [Option ID = 9843]

2. synchronous motor / f&shIe& #ex [Option ID = 9844]

3. Non-salient pole synchronous generator / 3 9&@ diel f&shleTd ST=iiex [Option ID = 9841]
4. Salient pole synchronous generator / 5@ dlel fAshleTd ST=¥eX [Option ID = 9842]

Correct Answer :-
. synchronous motor / TshleTd ?FﬂET [Option ID = 9844]
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16) Which of the following is not a reason for undesirability of magnetic leakage in electric
machines?

frafaf@a # @ i @ safFes et & e Rama A sarodaar #1 Fror a8 2
[Question ID = 2404]

1. Produces fringing / fSRTSTeT T 3cdTesT ST & [Option ID = 9918]

2. Lowers their power efficiency / 3sTehT T G&TdT & HaT § [Option ID = 9919]

3. Leads to their increased weight / 38 Helea®d delel H gig gl & [Option ID = 9917]
4, None of these/ 3=737 & FIg 8t T8t [Option ID = 9920]

Correct Answer :-
« Lowers their power efficiency / 3T IfeFd G&TdT sl T & [Option ID = 9919]

17) Which of the following is the correct definition of phasor?

fArafaf@a & ¥ Sl vox Hr @ wRemn §2
[Question ID = 2425]

1. An instrument used for measuring phases of an unbalanced 3-phase load / T 3T 3-TR0T $R & TR T
ATt o ToIT 1T fohar STer arelr Teh 39T [Option ID = 10001]



2. A line representing the magnitude and direction of an alternating quantity / Te IR&ATOT AT & RHATOT 3T =
1 gfafaflica axdr gé T 3@r [Option ID = 10003]

3. A line which represents the magnitude and phase of an alternating quantity / T 9fed it Teh dehfode HATAT o
gRATOT 3R TROT 1 gfafafeca &dr & [Option ID = 10002]

4. A coloured tag or band for distinction between different phases of a 3-phase supply / T 3-TR0T mféf &
et TROT & g g =T & o v @i &9 a1 & [Option ID = 10004]

Correct Answer :-

« A line which represents the magnitude and phase of an alternating quantity / Te i Sif Ueh dehfedeh HATAT
% gRATT 3R W7 &7 giafafica axdr & [Option ID = 10002]

18) Which of the following is the correct formula of specific resistance?

fawT & @ Fle a1 RAftrse i w1 @ g7 82
[Question ID = 2409]

1. R/L [Option ID = 9938]

2. RL/A [Option ID = 9937]
3. RA/L [Option ID = 9940]
4. AJRL [Option ID = 9939]

Correct Answer :-
o RA/L [Option ID = 9940]

19) Which offhefeffpieadets e PO RV AEH™5rum. Net

farT & @ Pl wlt R Fr gaifts aweg a2
[Question ID = 2422]

1. Square / TlsR [Option ID = 9990]

2. Sinusoidal / fA=TaTEse [Option ID = 9992]
3. Saw Tooth / T T (3R T &id) [Option ID = 9991]
4, Triangular / faerlsir [Option ID = 9989]

Correct Answer :-
« Sinusoidal / f&sTaTSSe [Option ID = 9992]

20) Which of the following symbol represents absolute permittivity of dielectric medium correctly?

fovet 3F e weller srarers ameasr Ay ot WA 1 78 w7 & e e?
[Question ID = 2413]

. €r [Option ID = 9953]

. €0 [Option ID = 9955]

. er*e0 [Option ID = 9956]
. er/e0 [Option ID = 9954]

N W N =

Correct Answer :-



« er*e0 [Option ID = 9956]

21) Which type of coupling is used by power amplifiers for impedance matching?

faaTeT fremer & fAT arat TR # fh TR & JeReT T 3999 FId 82
[Question ID = 2446]

1. Flexible coupling / er<Tell g3+ [Option ID = 10088]

2. Gear coupling / 1= a1 [Option ID = 10087]

3. Transformer coupling / TAHREFR gaH+T [Option ID = 10086]
4. Rubber coupling / T8T ZaH<T [Option ID = 10085]

Correct Answer :-
« Transformer coupling / EFEW®IFAT J7#=T [Option ID = 10086]

22) Which factor influences the critical density of the superconductor?

I O R faaras A Fiewd SRE & A F T41T Fa1 82
[Question ID = 2474]

1. (a) Magnetic field strength / e &1 s cTehct [Option ID = 10197]
2. (d) Both (a) and (b) / &1t (a) 3iR (b) [Option ID = 10200]

3. (b) Temperature / ATGATT [Option ID = 10198]

4. (c) Electric field / faggd &1 [Option ID = 10199]
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Correct Answer :-
« (d) Both (a) and (b) / &1t (a) 3iR (b) [Option ID = 10200]

23) Which among the characteristic of crystal diode is used for rectification?

U feed STE A R RAwar 1 39 gur & fav ghar @2
[Question ID = 2454]

1. Opposite / faadra [Option ID = 10117]

2. Can't be determined / feiTRa s1€Y favar ST Ihar [Option ID = 10120]
3. Forward or reverse / 3731 a1 Taw{Id [Option ID = 10119]

4. Forward / 3731 [Option ID = 10118]

Correct Answer :-
o Forward / 3731 [Option ID = 10118]

24) Which among the following statements are true with respect to semiconductor breakdown?
3refeTer get & Hay # foest el # 4 FiT araa 82

[Question ID = 2465]



1. Both The Zener breakdown occurs in junctions which are lightly doped and The avalanche breakdown occurs in
junctions, which are heavily doped / =il JeR ShaT3T 37 ST H BIdT § oI §ob AT & 31°8 gld g 3R
Jaelia eot T 9fRaT 37 Siareid 3 gl § ST SIRY AT # 3Ies g1 & [Option ID = 10163]

2. None of these / 318 & @IS #ff 7T [Option ID = 10164]

3. The Zener breakdown occurs in junctions which are lightly doped. / /e 3131 3T STFIH H 8ldT & SIf oo
AT 3 3ics g & [Option ID = 10161]

4. The avalanche breakdown occurs in junctions, which are heavily doped. / 3aelTe geat i Tishar 3e7 STerrd H
gIcT & ST 4 AT A 3ics @1 g [Option ID = 10162]

Correct Answer :-

« The avalanche breakdown occurs in junctions, which are heavily doped. / 37ereli<l geot &l GshaT 3eT STerrd H
I § ST ST ATaT 7 3108 gidt g [Option ID = 10162]

25) Which law states that an e.m.f is induced in a conductor whenever it cuts the flux?

FIT AT FIeLeT FaTa ¢ B 17 off STAT v Fzae 7 IR &) A1 8, 57 3ft 77 Forarw F we F@TS?
[Question ID = 2350]

1. Gauss's law for magnetism / 311 T Ydehcd & ToIT &IefeT [Option ID = 9704]

2. Lenz's law of electromagnetic induction / faegd Feaehlar 9ROT & olefel T =17 [Option ID = 9702]

3. Faraday's law of electromagnetic induction / %S T faeg TFaehlar 9ROT &I efsl [Option ID = 9703]
4. Lorentz force law / ®iRegaT el ahlefel [Option ID = 9701]

Correct Answer :-
« Faraday's law of electromagnetic induction / % T faegc gFehra YRUT T &iefel [Option ID = 9703]

"""""""""""" ngineer's orumIWWWErForumNet

26) Which charging method is preferred to avoid sulfation of batteries?

it w1 geda ¥ T9= F AT St d wichr A F graf@edar s €2
[Question ID = 2381]

1. Both Initial charging & Trickle charging / 3Rf&e arfoier 3R feerer (&fiaY) anfSiar 1At [Option ID = 9828]
2. Quick charging / caRd aTfeteT [Option ID = 9827]

3. Trickle charging / f&aher (41#T) TTfSter [Option ID = 9826]

4, Initial charging / 3TR &% =feier [Option ID = 9825]

Correct Answer :-
« Trickle charging / feerer (&fsf) =fSiar [Option ID = 9826]

27) Which law is a consequence of the law of conservation of energy?

FITHT FToleT FAT HIETOT & FTefeT HT Tk IROMHA 82
[Question ID = 2347]

1. Lenz's law / feToT 3T &sfel [Option ID = 9691]
2. Moore's law / HI =T lefet [Option ID = 9692]
3. Faraday's law /%S T &TsfeT [Option ID = 9690]
4. Kepler's law / &telX & alefst [Option ID = 9689]



Correct Answer :-
* Lenz's law / ofeToT & &eet [Option ID = 9691]

28) Which one is disadvantage of impedance matching?

sFfisew ART Hr FAr e 82
[Question ID = 2449]

1. Gives low power output / & dfa¥ 3T3Ye &aT & [Option ID = 10098]

2. Gives distorted output / fashd 3iT3eqe &ar & [Option ID = 10097]

3. Requires a transformer / S& SIAHFN T 3MGThdT &ldT & [Option ID = 10099]
4. Generates electrical power / fdegd QI 3cdest s & [Option ID = 10100]

Correct Answer :-
« Gives distorted output / faehd 3m3eqe &ar & [Option ID = 10097]

29) Which is to be considered as the most important characteristic of power amplifier?

FHHA § FIT G} TGN F Fad Ageaqor faerwar 82
[Question ID = 2447]

1. Biasing the circuit / @féhe dT STITHIT FHTAT [Option ID = 10089]
2. Collector efficiency / @heldex &# T [Option ID = 10090]
3. To keep the transformer cool / aﬂiﬂ'ﬁn I 33T 3G [Option ID = 10091

4. None of thefe {3 H M @ FBIoP@ ILHTRPIW WV ErForum.Net

Correct Answer :-
« Collector efficiency / sheldeX &THdT [Option ID = 10090]

30) Which part/phenomenon controls the controlling torque in megger?

i a1 RTwT/gear AR & AAfT % F AAa Frar g2
[Question ID = 2366]

1. earthing / 31f2sT [Option ID = 9766]

2. leakage current / R&ra &e [Option ID = 9768]
3. spring / T&eT [Option ID = 9765]

4. coil / Uzl [Option ID = 9767]

Correct Answer :-
« coil / FUSel [Option ID = 9767]

31) Which instrument has the multiple shunt or series resistances inside the meter?

HeX F 31T 7T 3TEHI0T F Aedea o 3 T Woedw ar 2

[Question ID = 2349]



1. Moving coil galvanometer / ﬂ?—r;ﬁ?ﬁ YRTATAY [Option ID = 9698]
2. Multimeter/ #FeEHTeX [Option ID = 9700]

3. Multirange meter / AT #AlexX [Option ID = 9697]

4, Wattmeter / afesiex [Option ID = 9699]

Correct Answer :-
 Multirange meter / A<t HieX [Option ID = 9697]

32) By which of the following elements transients will not occur?

T & & FieT |1 dcg &ioe g gem?
[Question ID = 2407]

1. L [Option ID = 9930]
2. R [Option ID = 9929]
3. C [Option ID = 9931]
4. All of these / T faed [Option ID = 9932]

Correct Answer :-
e R [Option ID = 9929]

33) Calculate the frequency in Hz of a 10-pole AC generator which rotates at 1800 rpm.

10 e THT ST Y HradHl §éoT A I Y 1800 IRATH WX gHaT §1 [Question ID = 2483]
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2. 100 [Option
3. 150 [Option ID = 10235]
4. 180 [Option ID = 10233]

Correct Answer :-
e 150 [Option ID = 10235]

34) Calculate the temperature coefficient in %/° C of a 8.6-V nominal Zener diode at 30° C if the
nominal voltage is 9.4 V at 100° C.

IfE 100° AfeTTH 9T ARTEA dleesr 9.4 dlee ¢ oY 30° ATCHIH T 8.6-dec ARTAT Aol SHAS F % /° Afcaaw #
ATIHATE I[OTF HY A0 FI| [Question ID = 2457]

1. 0.1251 [Option ID = 10130]
2. 0.1142 [Option ID = 10131]
3. 0.1238 [Option ID = 10129]
4. 0.1321 [Option ID = 10132]

Correct Answer :-
e 0.1142 [Option ID = 10131]

35) Of what material, Swamping resistance is made up?

Faifeger gfaer fFa gerd @ Jerar 2



[Question ID = 2408]

1. Alloy of nickel and cobalt / feiehel 3R @leTee T A &1 [Option ID = 9935]

2. Alloy of manganin and aluminium / #aTelieT iR Tegatferze &r f&4 &g [Option ID = 9933]
3. Alloy of manganin and copper / #aTelieT 3R dTsl o7 T4 &1 [Option ID = 9934]

4. None of these / 3+78 & 15 8 ST [Option ID = 9936]

Correct Answer :-
« Alloy of manganin and copper / HatefleT 3R i &7 {47 &1 [Option ID = 9934]

36) The output impedance of an emitter follower is

U TR sreArh Y 33y vfren 2t ¥| [Question ID = 2444]

1. Very high / Sga 318 [Option ID = 10078]

2. High / 31f&= [Option ID = 10077]

3. Low / & [Option ID = 10080]

4. Almost zero / @19TaeT = [Option ID = 10079]

Correct Answer :-
e Low / &&# [Option ID = 10080]

37) Alternating current is measured by:-

YeATadl! URT Y fFdas g@rT AT ST 8-
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1. induction ammeter / 82T THATET [Option ID = 9773]

2. electrostatic ammeter / SoiFeIEEfea THHIEX [Option ID = 9775]

3. moving iron repulsion type voltmeter / #fdaT 3Ts¥eT RYerdel dlee#ex [Option ID = 9776]
4. permanent magnet ammeter / TR Feehrg THAET [Option ID = 9774]

Correct Answer :-
« induction ammeter / 8&2T THHIEI [Option ID = 9773]

38) Which among the following is the important component for the value of critical density in a
superconductor?

S HfaaTas # RRed IRA F A F M F Qv fAFafaf@a & ¥ #ia a1 Ageaqet gew &2 [Question ID
= 2458]

1. Magnetic field strength and temperature / T &1 #T dehc 3R ATIATET [Option ID = 10133]
2. Current gain / &¥e # gfg [Option ID = 10136]

3. Resonance / ufaeafer [Option ID = 10135]

4, Power / 21f&d [Option ID = 10134]

Correct Answer :-
« Magnetic field strength and temperature / Fsehrar &7 s dTehel iR dT9ATeT [Option ID = 10133]

39) Which among the following indicates Early effect in BJT?



fArafaf@a & ¥ wla a1 A & IREF wsma F71 HHa a1 8? [Question ID = 2452]

1. Zener breakdown / =X siehsT3aT [Option ID = 10112]

2. Avalanche breakdown / fgaE@eleT siehsT34T [Option ID = 10109]
3. Base narrowing / 3R H&d=T [Option ID = 10111]

4. Thermal breakdown / 28 §ehsT34T [Option ID = 10110]

Correct Answer :-
« Base narrowing / 3R e+ [Option ID = 10111]

40) Select out the advantage of three phase induction motor over single phase inductor motor.

(i) Self starting motor

(ii) Better power factor

(iii) High efficiency

NeT BT S5FAT AT T T et aTel ESFAT AT F FYT FAT ATH ¢ |
(i) T IRfAF Al

(i) SR ufFT FRF

(iii) 3= gaTdr

[Question ID = 2355]

1. (i), (i) and (iii) / (i), (ii) 3R (iii) [Option ID = 9724]
2. (i) and (iii) / (ii) 3R (iii) [Option ID = 9722]
3. (i) and (i) / (i) 3iR (ii) [Option ID = 9721]

+.() and i) OGNSR IS-PFrAarum | www.ErForum.Net

Correct Answer :-

« (i), (i) and (iii) / (i), (i) 3 (iii) [Option ID = 9724]

41) Select the correct definition of powergain ratio.

oI Ry reTaTer (TR AT 3re7Ter) Y Y TRTT Y ok |
[Question ID = 2463]

1. Output power to input power / T3¢9 ATF & 3A9¢ IfeFd [Option ID = 10154]
2. Output voltage to input power / 3T3eYe dleest & gaqe <M [Option ID = 10156]
3. Input votage to output power / geT9¢ dlecl ﬁ.ﬂl:scgc erfeFT [Option ID = 10155]
4. Input power to output power / 3eT9c AfFd & 3M3eYe AfFd [Option ID = 10153]

Correct Answer :-
« Output power to input power / 3T3eYe AfFd & g9 AfFc [Option ID = 10154]

42) Select the correct statement regarding a semiconductor.

TF IETAE F IR A Y A B giAT|

[Question ID = 2466]



1. Acceptor level lies close to valence band / TR TR JoiH 88 & 19 & [Option ID = 10165]

2. N-type semiconductor behaves as a conductor at 0°K / TT-e189 3T8=ITeleh 0° FhicasT 9 FHsFel & & H cTdgR
Fd ¢ [Option ID = 10167]

3. All of these / @&t fased [Option ID = 10168]

4, Donor level lies close to valence band / EIdT TR doid 85 & HT & [Option ID = 10166]

Correct Answer :-
« Acceptor level lies close to valence band / T TR deld 5 & I & [Option ID = 10165]

43) When will the magnetic lines of force bend away from their usual paths in order to pass through
the piece?

Fa g B YT A3 ¢hs F TORA ¥ AT 39« AT 99 & 5T &) A1l 82
[Question ID = 2345]

1. When an iron piece is placed perpendicular to the magnetic field / SIS’ Tsh @ig T gehsT Yol &1 T TUfSHer
T@T ST g [Option ID = 9683]

2. When an iron piece is placed in a parallel plate capacitor / ST&f Teh @ilg T ZehsT FHICR Tele HUTRT  I@T ST &
[Option ID = 9684]

3. When an iron piece is placed in a magnetic field / ST&f Teh ollg T gehsT Yaehie &1 & I@T SiTelm & [Option ID =
9682]

4. When an iron piece is placed in an electric field / STel Ueh WlIg T gehsT Ueh fasTell o &1 # @ STielm & [Option ID
= 9681]

Correct Answer :-

e AR S T T RAVREE GG TN e o -

44) When will the self-inductance of an inductive coil be doubled?

gsTaed FIAe FT Fad:-HTIA [T Fd g2
[Question ID = 2346]

1. Both the number of turns and the core length of an inductive coil are equal / g1t HIST &I HEAT 3R I Fell
&I PR ST FaTS ST & ST & [Option ID = 9688]

2. Both the number of turns and the core length of an inductive coil are doubled / g\t ®ST $r FEar 3R WwH
S5l T I T ofaTS ENL1 g1 STl & [Option ID = 9686]

3. Both the number of turns and the core length of an inductive coil are halved / &=t #sT &I G&aT 3R I F3elr
T PR T ofaTs 3T @Y ST § [Option ID = 9687]

4. The number of turns and the core length of an inductive coil are zero / H3dT Fr TET 3R TH W P Hl HR
SISTS [ &Il ¢ [Option ID = 9685]

Correct Answer :-
« Both the number of turns and the core length of an inductive coil are doubled / &= HIsT T & 3R R
el 1 FR AT TS AR & S & [Option ID = 9686]

45) When the collector junction in a transistor is biased in reverse direction and the emitter junction
in the forward direction, the transistor is said to be is the:-



TIfoe & oI FaFe siFer fAgda feem & 3k vfiex siFee 3 fyem & ares gxan & aY cifSeet ) w1 siman
g

[Question ID = 2450]

1. Saturation / &S [Option ID = 10103]

2. Cutoff region / @c 3T &1 [Option ID = 10102]

3. Active region / Tfshar & [Option ID = 10101]

4, None of these / 3o137 & 15 it 8T [Option ID = 10104]

Correct Answer :-
o Active region / @fsha &9 [Option ID = 10101]

46) When an ac power is applied to a circuit having reactive load, then the voltage is

o9 o wHt afFa wfafFamefier s arer aRuy o3 amg gt 8, ot aees BT e,
[Question ID = 2421]

1. 90 degree out of phase with the current / 3Taer & @Y o & 90 f33ft §18X [Option ID = 9985]

2. 180 degree out of phase with the current / 3TTaer & &1 TRoT & 180 f33fT a8 [Option ID = 9988]
3. In phase with the current / 3TTaer & &1 TROT & [Option ID = 9986]

4, 270 degree out of phase with the current / 31Ta2r & AT TROT & 270 f33ft 18X [Option ID = 9987]

Correct Answer :-
90 degree out of phase with the current / 3719er & @Y =RoT & 90 {33 18X [Option ID = 9985]
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47) Two long parallel conductors are placed 10mm apart from each other carrying current of 150
Amperes. What will be force per meter length of each one?

&l 9 AR FsaeT, AT 10mm F g T 150 TFRIT FT FIC T8 FQ §| TS Foaed I da1s F7 Iia He o
-
[Question ID = 2351]

1. 0.45 N [Option ID = 9708]
2. 0.1 N [Option ID = 9707]
3. 4.5 N [Option ID = 9706]
4. 9 N [Option ID = 9705]

Correct Answer :-
e 0.45 N [Option ID = 9708]

48) Binary'vapour cycles are used to

TSI & JUT ThI AT 3TN & fore fra ST ¥
[Question ID = 2374]

1. increase efficiency of the turbine / <X« &I gaTdr # gfg [Option ID = 9799]
2. increase the efficiency of the plant / &3 s g&Tdm # gfg [Option ID = 9798]
3. increase the performance of the condenser / Hafe & FesieT # gfg [Option ID = 9797]



4. Balance the efficiency of turbine / eXTgeT T Z&TdT T Tfeld A & foIw [Option ID = 9800]

Correct Answer :-
« increase the efficiency of the plant / = &I g&tar 7 gfg [Option ID = 9798]

49) In a straight wire, induced current depends upon which of the following factors?

s Wil ar F 9RT e T 7 F Fw FRe W AR Fwar 2
[Question ID = 2420]

1. Magnitude of magnetic flux density / IeehI¥ Feferd Teicd T IRATOT [Option ID = 9981]
2. Speed of movement of wire / dR & el T 31Tt [Option ID = 9982]

3. All of these / @8t fased [Option ID = 9984]

4, Length of wire / dR &7 &S [Option ID = 9983]

Correct Answer :-
o All of these / 3T fashed [Option ID = 9984]

50) In a synchronous motor, the breakdown torque is

T JedehTierd ATerh i 3% I3 i gar ¥
[Question ID = 2378]

1. inversely proportiona] to the square of the applied volfage / SIg&d dleest & gt & faadieT egede<1 [Option ID =
o816 ENgIneer's Forum | www.ErForum.Net

2. inversely proportional to applied voltage / Jg&d aleesl & faqdid egcd==1 [Option ID = 9815]

. directly proportional to applied voltage / Sged dleest & Y 3TeaTides [Option ID = 9813]

4. directly proportional to the square of the applied voltage / S dleest & &3 & e 3MTguriciss [Option ID =
9814]

w

Correct Answer :-
« directly proportional to applied voltage / ¥ged dledst & HEr 3TeIuTfdsh [Option ID = 9813]

51) In a BJT, the base current(IB) is about of emitter current(IE).

wF 9 F a7 Fe (3EN) TR FE (31E) FT AT gl
[Question ID = 2387]

1. 25% [Option ID = 9849]
2. 20% [Option ID = 9851]
3. 5% [Option ID = 9850]

4. 35 % [Option ID = 9852]

Correct Answer :-
e 5% [Option ID = 9850]



In a 3- phase dynamometer type power factor meter, two moving coil planes are inclined at an angle
of:-

UF SRIATATHAICY 3-%d 9TaT geF Hie #, ar fafdrer Fsfort fir gearg fra ot o -
[Question ID = 2370]

1. 180° [Option ID = 9783]
2. 120° [Option ID = 9784]
3. 90° [Option ID = 9782]
4. 45° [Option ID = 9781]

Correct Answer :-
» 120° [Option ID = 9784]

53) Economiser is used to heat.

SRIANTAATSIT HT 3TN FA I3 FIT & forw v e §
[Question ID = 2373]

1. flue gases / we] 31F [Option ID = 9795]

2. feed water / $Ig arex [Option ID = 9794]

3. air / gar [Option ID = 9793]

4, All of these / T$ir Tased [Option ID = 9796]

Correct Answer :-

- feed water ER@HIRRIS FOrum | www.ErForum.Net

54) Carnot cycle comprises of:-

FTefe T A F471 MR §:-
[Question ID = 2375]

1. two isothermal processes and three constant pressure processes / & 3TsaH e Ffshamt 3R T 2R gara
gfsRamy [Option ID = 9803]

2. two isothermal processes and two constant pressure processes / &l 3TsaF e IfHATT 3R & FeTdR gara
gfshare [Option ID = 9804]

3. two isentropic processes and two constant volume processes / & fafrse gfshare 31X ar 2R gfshame [Option ID
= 9801]

4. two isentropic processes and two constant pressure processes / ar 3TSHecideh FfHATT 3R &Y TRMIR g d
gfshare [Option ID = 9802]

Correct Answer :-

« two isentropic processes and two constant pressure processes / &l 3TedeclTdeh ThHATT 3T & TR gara
gfshamu [Option ID = 9802]

55) Dependent sources are also called

TERaEai® s Fgr S gl



[Question ID = 2391]

1. Uncontrolled sources / 31faaf3a & [Option ID = 9868]

2. Time response elements / TFI 9fAfhaT aTel dea [Option ID = 9867]
3. Steady state elements / AR 31G€T dTel dcd [Option ID = 9866]

4, Controlled sources / faf3a & [Option ID = 9865]

Correct Answer :-
« Controlled sources / f@afd @d [Option ID = 9865]

56) How many comparators would a 12-bit flash ADC require?

% 12-fe weler Tt FF fraa qereTaR i aravgwar @1t? [Question ID = 2475]

1. 2512 [Option ID = 10204]
2. 3095 [Option ID = 10202]
3. 4095 [Option ID = 10201]
4. 4000 [Option ID = 10203]

Correct Answer :-
e 4095 [Option ID = 10201]

57) Stability and transient response can be best determined by which of the following techniques?

ot A @ i a1 e 3k a1 wfaferar &1 AuRor &= & o g9@ seeT s 82

[uestion PEMEfINeer's Forum | www.ErForum.Net

1. Root locus / & &te& [Option ID = 10173]

2. Time response analysis / AT 9fafear fagesor [Option ID = 10176]
3. Bode Plot / &1 Talre [Option ID = 10174]

4. Nyquist plot / sierdIEe Talre [Option ID = 10175]

Correct Answer :-
 Root locus / € oliehd [Option ID = 10173]

58) Voltage regulation of an ideal regulated power supply is measured to be equal to:-

e reet Rfaafaa Rsre smqfd i deee Rfagas frad awre and = 32
[Question ID = 2476]

1. 2% [Option ID = 10206]
2. 1% [Option ID = 10207]
3. 100% [Option ID = 10208]
4. 0% [Option ID = 10205]

Correct Answer :-
» 0% [Option ID = 10205]



is supported from the ceilings.

__ sa¥wNadrg|
[Question ID = 2461]

1. Belt conveyor / se€ Faax [Option ID = 10146]
2. Roller conveyor / IR @aaX [Option ID = 10145]
3. Chain conveyor / T ®eaax [Option ID = 10147]
4, Trolly conveyor / gTelt @heaax [Option ID = 10148]

Correct Answer :-
« Chain conveyor / ¥ &=aax [Option ID = 10147]

60) If a system is connected in delta connection, how can be the total power output expressed as?

3T ¥ 3 RAveH 1 For Rsrel 3m3eye & AT 4T s8% garT o arm 82
[Question ID = 2352]

1. 1/v/(3Vp Ip sin@) [Option ID = 9711]
2. V(3Vp Ip) cos@ [Option ID = 9710]
3. 1/3 x(Vp Ip cos@) [Option ID = 9712]
4. 3Vp Ip cos@ [Option ID = 9709]

Correct Answer :-
» 3Vp Ip cos@ [Option_ ID = 9709]
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61) State an example of plastic welding?

conTfeesd 38 &1 U 3EEIor 9d16?
[Question ID = 2431]

1. Gas welding / 3 afeseT [Option ID = 10025]

2. Resistance welding / 9faRier afesst [Option ID = 10026]

3. Thermit welding without pressure / greRfgd g#e afegar [Option ID = 10027]
4. None of these / 781 & 15 8 77T [Option ID = 10028]

Correct Answer :-
o Resistance welding / 9faRTer afesar [Option ID = 10026]

62) Household energy meter falls under category of which type of instrument?

W FT HeX fFe wHR & 7 Ay Ao F rar 82
[Question ID = 2364]

1. a magnetically revolving type instrument / Teh deehra TReAIHAT JhR &I o= [Option ID = 9757]
2. a recording instrument / Te Repifsar I [Option ID = 9758]

3. a displaying instrument / T Y&f2id 39e<oT [Option ID = 9760]

4, an integrating instrument / Teh 31T IF [Option ID = 9759]



Correct Answer :-
« an integrating instrument / Teh SCIATET IF [Option ID = 9759]

63) Among these which one is correct about the characteristics of transistor?

FAH ¥ TH giforeet 1 Awansit & ar & a1 7€ 82 [Question ID = 2443]

1. It has very low input impedance / 39 Sg A FeIqC gfaerer & [Option ID = 10074]
2. It has zero input impedance / 383 =T 3Tr|trc’ wferaTer & [Option ID = 10076]

3. It has high input impedance / 387 Fea geTqe gfdarer & [Option ID = 10075]

4. It has low input impedance / g8 & geTqe gfderer g [Option ID = 10073]

Correct Answer :-
« It has high input impedance / $8# 3Ta ge1qc YfasTer § [Option ID = 10075]

64) Dielectric constant of air is

1Y T SHTATIEH FIET gl
[Question ID = 2399]

1. Less than 1/ 1 & && [Option ID = 9897]

2. Equalto1 /1o sRT&} [Option ID = 9899]

3. Can't be determined / feTRa =181 fham ST @ewar [Option ID = 9900]
4. Zero / Y=T [Option ID = 9898]
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e Equalto1l /1% sr&X [Option ID = 9899]

65) Magnetic Bubbles are used as

I Fogell HT39ART___ 7 A forar Srar €
[Question ID = 2470]

1. Routing telephone calls / EolPIsT @lel &T FcaT =T [Option ID = 10184]
2. Thermostat / gAfEeEe [Option ID = 10183]

3. Storage device / TeR<T f3arsa [Option ID = 10181]

4. Strain gauge / faefdr g#ATIe [Option ID = 10182]

Correct Answer :-
« Storage device / TeR<T f3arsd [Option ID = 10181]

66) If the instrument have a wide range, then instrument should have
A 3YTT Y v REqe s@en gl &, a susor e TR |

[Question ID = 2354]

1. Square-law scale / TFIRR &f YA [Option ID = 9718]



2. Linear scale / @& YA [Option ID = 9717]
3. Exponential scale / aTdre Y#T1AT [Option ID = 9719]
4. Logarithmic scale / oTg3ToTeh J&ATAT [Option ID = 9720]

Correct Answer :-
« Logarithmic scale / SE[aT0Teh Y&AT=AT [Option ID = 9720]

67) How many types of dependent sources are there?

T @Y st TR F 1 §?
[Question ID = 2388]

1. 1 [Option ID = 9853]
2. 4 [Option ID = 9856]
3. 2 [Option ID = 9854]
4. 3 [Option ID = 9855]

Correct Answer :-
e 4 [Option ID = 9856]

68) How much eddy current loss does an air core inductor have?
A FR §3F¢T A U I A et grefi?

uestion ID= 2343
a Efigineer's Forum | www.ErForum.Net
1. Very less / g A [Option ID = 9673]
2. Constant / TR [Option ID = 9676]
3. Zero / [ [Option ID = 9675]
4. High / 3= [Option ID = 9674]

Correct Answer :-
e Very less / Sgl A [Option ID = 9673]

69) How can we find the applications of Differentially compound D.C. motors?

RN Furdz e AeT & g F areT FT ThS 82
[Question ID = 2341]

1. zero torque / = re [Option ID = 9665]

2. armature resistance / 3R IfGEEH [Option ID = 9668]

3. constant speed / 31T 31fd [Option ID = 9667]

4. low starting torque / & YR e FaTeET [Option ID = 9666]

Correct Answer :-
« low starting torque / & YRR FaTEOT [Option ID = 9666]



A property of a transformer which makes it ideal is.

AP Y grad], st 3% ameet gardh ¥
[Question ID = 2485]

1. CRGO core for its primary and secondary windings / g&ehT yrafiies 3R Areaf@e arsafssd & fow CRGO &)X
[Option ID = 10243]
2. No losses and magnetic leakage / 18 FJehaTT 3 Yaehra RaTd 78T &1l & [Option ID = 10241]

3. Interleaved primary and secondary windings / §c¥eites UsA 3R gfada arsaAfsed [Option ID = 10242]
4, None of these / 31 & 15 8T Agr [Option ID = 10244]

Correct Answer :-
+ No losses and magnetic leakage / #I$ FehdTeT 3R Yaehiar R&ATT w161 glalm & [Option ID = 10241]

71) Reason for using silicon steel in electrical machines?

safFchd AT F AR TET FT YA FIA FT FROT F471 82
[Question ID = 2403]

1. High retentivity / 31f8% gfaaRoT [Option ID = 9913]

2. High coercivity / 318 sIezfafadr [Option ID = 9915]

3. Low hysteresis loss / & fgecRI&F a1er [Option ID = 9916]
4, Low coercivity / & PIEraTacs [Option ID = 9914]

Correct Answer :-

+ Low hysterdsis QG FFERERB Fopes o - gy . ErForum. Net

72) In a transistor amplifier, the purpose of capacitors is to

T TFTAIBRIT H FARAeT w1 33 2| [Question ID = 2442]

1. Couple or bypass a.c. Component / T & €1ceh &l SSAT AT SSUTH =T [Option ID = 10071]
2. Provide biasing / STaf&T 9eTet =TT [Option ID = 10072]

3. Cool the transistor / gifSiEexX &t 33T &TAT [Option ID = 10070]

4. Protect the transistor / EITeT¥e &I &I F¥=AT [Option ID = 10069]

Correct Answer :-
« Couple or bypass a.c. Component / T I ©ea I SNSAT AT SISUTH AT [Option ID = 10071]

73) When the graph between current through and voltage across a device is a straight line, the
device is referred to as

Sie fRasw # & #ie 3R 30 aees & g F1 7% v @) War ar €, ot Rasw #r F w7 F S
SITaT 1 [Question ID = 2455]

1. Passive / TS [Option ID = 10124]

2. Nonlinear / 31f@ [Option ID = 10123]

3. Active region / Gfsha &= [Option ID = 10122]
4, Linear / Y@ [Option ID = 10121]

Correct Answer :-



o Linear / @ [Option ID = 10121]

74) Radio frequency can be measured by which of the following?

W Preddt APaf@a & a ey ATt o whdr 82
[Question ID = 2367]

1. Weston frequency meter / a&e=T 3igfcet #HeX [Option ID = 9769]

2. vibrating reed vibrator frequency meter / {1 surg#TeT 3Tgfca #ex [Option ID = 9770]
3. heterodoxy frequency meter / geXsTeraT 3iTgfed #HieX [Option ID = 9771]

4. ferrodynamic frequency meter / fa¥[d 31eaiTe; 3Mgfcd #Hex [Option ID = 9772]

Correct Answer :-
» heterodoxy frequency meter / geISTeFaT 3Tgfeet #HeX [Option ID = 9771]

75) The conductivity of a metal is determined by.

T T ATeheT $HS gaRT UIRE H Tl | [Question ID = 2472]

1. Charge produced by the metal / & g@RT 3cafe =Tt [Option ID = 10191]

2. The electronic concentration and the mobility of the free electrons / Fed Selercieil 3l SeleFeiieieh Higell 3R
aifaefrerar [Option ID = 10189]

3. The number of valence electrons per atom / fet 310] deld Selerciail & §&aT [Option ID = 10190]

4. Arrangement of electrons inside the atom of the metal / €ITq] o SRHATU] & 37eT FolFciall &l cgaeT [Option ID =
10192]
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« The electronic concentration and the mobility of the free electrons / HeFd geterelal ST Selereifeleh Higell 3K
arferefierar [Option ID = 10189]

76) A 50 Hz, 11 kV, 3 phase alternator with earthed neutral having a reactance of 3 ohms per phase
and is connected to a bus bar through a circuit breaker, if the distributed capacitance upto CB
between the phase and neutral is 0.01 p F.

What is the frequency of oscillations?

UF 50 g1, 11 Fd1, 3 =0T F1 3mafel, 3 3w gfer =wor Fr wfasam & arer s{ffera aevy & wry ¥ 3k v wfde
ST & ATETH W T 90 TR § 37 g1 §. AT =01 3R Feey & o et a RaRa aiikar 0.01 p vw. @, o areer
&1 argfea FAT8? "

[Question ID = 2435]

1. 12,500 Hz / 12,500 g&<7 [Option ID = 10043]
2. 10000 Hz / 10000 &< [Option ID = 10041]

3. 12,628 Hz / 12,628 &1 [Option ID = 10042]
4. 13,265 Hz / 13,265 &3 [Option ID = 10044]

Correct Answer :-
o« 12,628 Hz / 12,628 &< [Option ID = 10042]

77) A transistor when connected in CE mode has:-



TF giforee o H1$ AlS & 37 81aT ¢ oY $WH:- [Question ID = 2451]

1. A medium input resistance and high output resistance / Teh HEZH goTqe TeRTEr 3R 3T 3M3eYe FiaRIe giar &
[Option ID = 10108]

2. A low input resistance and a low output resistance / & g=Tqc JfeRItr AR & T3eqe FfRIer giem & [Option 1D
= 10105]

3. A low input resistance and high output resistance / T &# geTqe Tfalier 3R 3T 313eYe TTeRier g1am & [Option
ID = 10107]

4. A high input resistance and high output resistance / T&h 3= a19¢ FfcRItr 3R 3T 3M3eYe FieRIY glar &
[Option ID = 10106]

Correct Answer :-

» A medium input resistance and high output resistance / Teh HETH FoTqc FcRTer 3N 3T HT3CYE TR glar
& [Option ID = 10108]

78) Electrodes used for welding aluminium alloys are:-

afeser vegeifasr B & fore waer R ot arer saweisw 8-
[Question ID = 2432]

1. Tungsten copper / &3T&esT dieT [Option ID = 10031]

2. None of these / 318 & @IS #ff F&T [Option ID = 10032]

3. Cadmium copper / &sfAzs ateT [Option ID = 10029]

4. Hard drawn copper / &fdedr & @iar 3rar dieT [Option ID = 10030]

Correct Ans

. Hord aravr i RELE Bl @ B WA E rFOrum. Net

79) Fork lift truck is used for .

B fATe e 1 39T & e i1 Sirar @ [Question ID = 2459]

1. Lifting and lowering / 33T 3i #i<r &% [Option ID = 10137]

2. Opposite transportation / 319faie g@aIéere [Option ID = 10139]

3. Horizontal transportation / gTR<ileed Sr@aIcere [Option ID = 10138]
4. Flying / weITgaT [Option ID = 10140]

Correct Answer :-
« Lifting and lowering / 3&TeT 3R =fer @31 [Option ID = 10137]

80) Load carrying capacity of belt conveyor is about:-

¥o¢ HragT HY A3 FRIT &77aT Forerar vt §:-
[Question ID = 2371]

1. 20 to 40 tonnes/hr / 20 & 40 T=A/8eT [Option ID = 9785]

2. 100 to 150 tonnes/hr / 100 & 150 &=A/&reT [Option ID = 9787]
3. 150 to 200 tonnes/hr / 150 & 200 &=A/&eT [Option ID = 9788]
4, 50 to 100 tonnes/hr / 50 & 100 &=1/€eT [Option ID = 9786]



Correct Answer :-
« 100 to 150 tonnes/hr / 100 & 150 &=1/€er [Option ID = 9787]

81) Voltage drop in an alternator can be determined by which of the following factor?

& Heetded A alees 317 et FRe H ¥ Auifia frar s @=ar 2 [Question ID = 2484]

1. Power factor x load current / 9TaR thareX x @8 @ic [Option ID = 10239]

2. Power factor x (load current)2 / 9TaR €< X (elig c) 2 [Option ID = 10240]
3. Load current / &8 &ie [Option ID = 10238]

4, Voltage drop of the load / &g &T 91aX €¢h [Option ID = 10237]

Correct Answer :-
o Load current / @18 &< [Option ID = 10238]

82) Self induced voltage of a current carrying coil which is wound on iron core having 1A current is
independent of

Wﬁ?#ﬂﬂtwﬁmgmm,ﬁvﬁaﬁzmqaﬁaam%,ﬁmmm ¥ Tgad gt 8|
[Question ID = 2358]

1. Number of turns of coil / @Tarel & HIST & FEIT [Option ID = 9735]

2. Variation in current / @3¢ & f®e=1dr [Option ID = 9733]

3. Variation in voltage to the coil / el & aleest $ fAe=Tar [Option ID = 9734]
4. The resistance of magnetic path / 1T 9 & Ffarer & [Option ID = 9736]
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Correct Answer :-
« Variation in voltage to the coil / F1aer & dreest &1 fAe=Tar [Option ID = 9734]

83) Pugga valley in Ladakh is suitable for which of the following power generation?

aere # Rua geon ardl, Tt & & frw Rigga scares & T 3ug#a 8?2
[Question ID = 2433]

1. Wind / arg [Option ID = 10035]

2. Solar / EX [Option ID = 10034]

3. Geo thermal / 8-aTdrar [Option ID = 10033]
4, All of these / 3T fased [Option ID = 10036]

Correct Answer :-
* Geo thermal / #8-ardra [Option ID = 10033]

84) Due to overdamping, the instrument will become:-
AT F HROT IYFHIOT §Y SATTI: -
[Question ID = 2489]

1. Both Lethargic and Slow / g&d 3R & g1t [Option ID = 10260]



2. Fast / d<t [Option ID = 10258]
3. Slow / €f/#T [Option ID = 10259]
4. Lethargic / g&d [Option ID = 10257]

Correct Answer :-
« Both Lethargic and Slow / g&d 3R €A 2let [Option ID = 10260]

85) Hall effect may be used for which of the following?

AT & ¥ fFas fAT g ToITa &1 39T foFaT ST FhaT 82
[Question ID = 2467]

1. Detecting aircraft communication signals / fTd#TeT TR Hehdl T IdT STeTaAT [Option ID = 10172]

2. Determining the carrier concentration / aTges SHECAT T fARUT =TT [Option ID = 10170]

3. Determining whether the semiconductor is p or n type / feTRa =TT fah 31¢Tarere Y a1 T YR T & [Option
ID = 10169]

4, Calculating the mobility / aTfaefierdr &I T0TAT =T [Option ID = 10171]

Correct Answer :-

« Determining whether the semiconductor is p or n type / fATRT =TT foF 3reTaTers OF AT T YR T &
[Option ID = 10169]

86) Hysteresis loss in a transformer is proportional to which of the following quantity?

mﬁmﬂmmﬁm#ﬁmmﬁm%’[gstionm=2487]
. smx ooimpge€r's Forum | www.ErForum.Net

2. Bmax1-6 [Option ID = 10250]
3. Bmax0.6 [Option ID = 10252]
4. Bmax1-0.6 [Option ID = 10251]

Correct Answer :-
e Bmax1-6 [Option ID = 10250]

87) A power supply should possess an ideal voltage regulation which is equal to and
practical voltage regulation measuring

u fasrelt &1 3mqfet # v ameet e AT & TR el TIRT 3R AT dees
RfA"HT F1 A9 BT TR

[Question ID = 2479]

1. Small value, zero / BﬁET:a\FJ, =T [Option ID = 10218]
2. Zero, small value / =3, el #e& [Option ID = 10217]
3. Zero, zero / 3, Y= [Option ID = 10219]

4. Large value, zero / §IST #ed, =d [Option ID = 10220]

Correct Answer :-
+ Zero, small value / =3, ®IcT #=& [Option ID = 10217]



88) A D.C. series motor is that which:-

% SR Wier Al ag § 5wz~ [Question ID = 2490]

1. Has a poor torque / @1 &I &IdT & [Option ID = 10262]

2. Has its field winding consisting of thick wire and less turns / I AR 3R & GATT & &1 SHAT & FATGTER
gdr & [Option ID = 10261]

3. Has almost constant speed / &3T879T faRaR a1 & [Option ID = 10264]

4. Can be started easily without load / 3aTel & =11 @13 & T&T ST HehelT © [Option ID = 10263]

Correct Answer :-

« Has its field winding consisting of thick wire and less turns / HIEY AR 3R H& GATT A ST FHA & FATAER
gaT & [Option ID = 10261]

89) Which coupling is very expensive?

FIH AFIT FHUYTAIT HleT W § ? [Question ID = 2448]

1. Transformer / EHEFR [Option ID = 10096]
2. Stamp / ¥&F9 [Option ID = 10094]

3. External / sT&3r [Option ID = 10095]

4, Control / fa==0T [Option ID = 10093]

Correct Answer :-
« Transformer / %R [Option ID = 10096]

90) Which of followin prpdu s used to make insulatio
ERgineers Forfum I WWW EEoFUh. Net
Wm#mﬁama:msa##mmm ? [Question ID = 2471]

1. Nickel alloy / fe¥eher T @7 [Option ID = 10186]

2. None of these / 318 & @IS #ff F&T [Option ID = 10188]
3. Porcelain / 9if&es [Option ID = 10185]

4, Glass fiber / ®wrgsx fTema [Option ID = 10187]

Correct Answer :-
« Porcelain / @Yf¥ele [Option ID = 10185]

91) To minimise loss due to hysteresis, the magnetic material should have?

ReRET & FRoT @1 ATl 1A ' w7 FA & AT e ey B Tifew?
[Question ID = 2423]

1. High resistivity / 3=a 9faRegerdr [Option ID = 9995]

2. High retentivity / 3T arfaefierar [Option ID = 9996]

3. Low hysteresis coefficient / 31 &g 8;FUT|7=F [Option ID = 9993]
4, Large B-H loop area / §3 sT-T9 faurer &1 [Option ID = 9994]

Correct Answer :-
« Low hysteresis coefficient / &# Af¥exr [uTsh [Option ID = 9993]



92) A conductor of length L has current I passing through it, when it is placed parallel to a magnetic
field. The force experienced by the conductor will be?

TS U & U 5w H W HHE I o @1 &, T4 3§ GahT 477 & FAIR TWT STl §| F8Fe GaRT H3a e
T I T BM?

[Question ID = 2348]

1. BLI / Siwer3ms [Option ID = 9694]

2. B2LI / §12uar3ims [Option ID = 9695]

3. Zero / (=7 [Option ID = 9693]

4, None of these/ 3737 & FIg 8T 18T [Option ID = 9696]

Correct Answer :-
* Zero / =T [Option ID = 9693]

93) Another name for a unity gain amplifier is?

A AT TFIAPRR & AT T 377 719 82
[Question ID = 2436]

1. Voltage follower / ale<sT 33T [Option ID = 10047]

2. Difference amplifier / 37X T&FITHIAR [Option ID = 10045]
3. All of these / @3 fased [Option ID = 10048]

4. Comparator / ¥eereh [Option ID = 10046]
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« Voltage follower /*dle<sT 37T [Option ID = 10047]

94) If field current of a three phase alternator is reversed, what happens to its phase sequence?

IfE et TROT IreeTAT F 81T FE FY 36T F & &, Y SHF A0 FH HT F4T 81a1 82 [Question ID = 2482]

1. Remains same / Teh &T I&dT & [Option ID = 10230]

2. Reverses / 3&<T &1 SITdT & [Option ID = 10229]

3. Two phases are exchanged / &r TRUI &l 37TETI-YeTs [T STaT § [Option ID = 10231]
4, Tt becomes ac motor/ Jg THT AleX 1 ST g [Option ID = 10232]

Correct Answer :-
« Remains same / Teh &I T&dT & [Option ID = 10230]

95) Find the current flowing through resistor R3?

R3 YA¥T @ 75 Ry vare i rorar #1
[Question ID = 2394]

1. 1.95 mA [Option ID = 9877]
2. 2.5 mA [Option ID = 9879]
3. 2 mA [Option ID = 9878]

4, 1.55 mA [Option ID = 9880]



Correct Answer :-
e 1.95 mA [Option ID = 9877]

96) Find the current flowing through resistor R2?

R2 YAFeT & sga Rgga yare #r v #X
[Question ID = 2393]

1. 5 A [Option ID = 9876]
2. 2A [Option ID = 9873]
3. 1.51 A [Option ID = 9875]
4. 1.25 A [Option ID = 9874]

Correct Answer :-
e 1.51 A [Option ID = 9875]

97) Find the current flowing through resistor R1?

R1 YaFeT & sga gy yame #r arvren #Y
[Question ID = 2392]

1. 440 microA [Option ID = 9869]
2. 445 mA [Option ID = 9871]
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Correct Answer :-
e 442 microA [Option ID = 9870]

98) Find symmeterical breaking current of a three phase circuit. 33 kV oil circuit breaker is rated
1200 A, 2000 MVA, 3s.

AT TRoT IRTY F FARNT IFFT yare F @, 33 Fd a7 FiFe 97 F1,1200 T, 2000 THAT, 3 g R =T
gl

[Question ID = 2434]

1. 35 kA [Option ID = 10040]

2. 3600 A [Option ID = 10037]
3. 104.8 Ka [Option ID = 10039]
4. 1400 A [Option ID = 10038]

Correct Answer :-

e 35 kA [Option ID = 10040]

99) Find the voltage across resistor R2?

R2 IRATX F IR afaer & aorar w31



[Question ID = 2396]

1. 7.078 V [Option ID = 9887]
2. 5.5 V [Option ID = 9885]
3.7V [Option ID = 9886]

4. 2.078 V [Option ID = 9888]

Correct Answer :-
e 7.078 V [Option ID = 9887]

100) Find the voltage across resistor R1?

R1 IRATET & IR gfaier Y ayorar w3
[Question ID = 2395]

1. 2.5 V [Option ID = 9883]
2. 2V [Option ID = 9882]

3. 3.5V [Option ID = 9881]
4. 2.078 V [Option ID = 9884]

Correct Answer :-
e 2.078 V [Option ID = 9884]

101) Find the voltage across resistor R3?

rs e deiR@BeRe Forum | www.ErForum.Net

[Question ID = 2397]

1. 2,922 V [Option ID = 9890]
2. 2.5 V [Option ID = 9891]
3. 3.5 V [Option ID = 9889]
4. 2.078 V [Option ID = 9892]

Correct Answer :-
e 2.922 V [Option ID = 9890]

102) Synchronizing power of a synchronous machine is:-

TS Jedarad Al T qeasrias AfFd gidr g:-

[Question ID = 2377]

1. equal to the synchronous reactance / dedehleieh RUFEH & sTe} [Option ID = 9811]

2. inversely proportional to the synchronous reactance / Jedehreish RuFcH & faulieT egcde=1 [Option ID = 9810]
3. direcly proportional to the synchronous reactance / JedehTelsh Ruered & Ter 31epdTicieh [Option ID = 9809]

4. Greater than synchronous reactance / dedshTeish RU«cH & S1eT [Option ID = 9812]

Correct Answer :-

« inversely proportional to the synchronous reactance / Jedelels RUH o faqdid egcde=1 [Option ID =
9810]



103) Amount of current flowing in the circuit having 12V battery source and single resistor of
resistance 24k.

12V def 319 3R 24k F vara A gt yfaius & aR9y F yaifga @1 arar yarg Y 76|
[Question ID = 2429]

1. 50 mA [Option ID = 10018]
2. 288 kA [Option ID = 10020]
3. 2 kA [Option ID = 10019]
4. 500 A [Option ID = 10017]

Correct Answer :-
» 500 A [Option ID = 10017]

104) Amount of electricity consumed by a 100 Watt bulb (in the ON state for 10 hours) is:-

T 100 Jfc & Tod gaRT (2o U F TTe] TEAT H) WIS $Y AT Frsrelt Y AT B2
[Question ID = 2427]

1. 100 Watts per Hour /100 dfe gfaeer [Option ID = 10012]

2. 100 Watts / 100 afe [Option ID = 10011]

3. 1kWh = 1 Unit of electricity / 1 féheitare = forsfell & 1 gfeie [Option ID = 10010]
4, 1000 Watts (1kwW) / 1000 afe (1 fareltare) [Option ID = 10009]
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Correct Answetr :-
+ 1kWh = 1 Unit of electricity / 1 fhellare = fSsTell & 1 gfie [Option ID = 10010]

105) Value of relative permeability for ferromagnetic material is:-

T WiAAfeE ReRTT F Rl wAfafod @i deg gt Bl
[Question ID = 2398]

1. More than one / T& & 31f&& [Option ID = 9893]

2. More than 100 or 1000 / 100 3T 1000 & 31f&% [Option ID = 9895]
3. Less than one / T & &# [Option ID = 9894]

4. None of these/ 5+737 & &5 it #7ET [Option ID = 9896]

Correct Answer :-
 More than 100 or 1000 / 100 3T 1000 & 37f&& [Option ID = 9895]

106) Among these alternatives, PIV rating of which diode is lower than that of equivalent vacuum
diode?

31 el ¥ @, fFw sats A Ramdd W & aogew dqA ss M qaan A w7 82

[Question ID = 2456]



1. PN junction Diode / 9rueT SeFereT 31318 [Option ID = 10126]
2. Crystal diode / fshecer 3118 [Option ID = 10125]

3. Tunnel diode / T SrA1S [Option ID = 10128]

4, Small single diode / BIET Tehel 31313 [Option ID = 10127]

Correct Answer :-
« Crystal diode / fshecer 3118 [Option ID = 10125]

107) Output voltage of regulated power supply can be altered by changing which of the following?

A § @ 71 v Wees R i F 33eye dlees FY Waad a1 82 [Question ID = 2478]

1. Injected voltage / Ss1%c¢s dlecst [Option ID = 10214]
2. Load current / @i &c [Option ID = 10213]

3. All of these / T#Y fded [Option ID = 10216]

4. Temperature / d9ATT [Option ID = 10215]

Correct Answer :-
o All of these / T3 fased [Option ID = 10216]

108) For a certain transistor, if the value of Beta is equal to 500 and Base current is 5mA , then the
value of Emitter current is:-

v fafdaa ciforet & farw, afe fier 1 71 500  a3raw § 3R HeT 4RT 5mA B, oY Tffet Fie #1 A 8-

[Question ID = 2386] |
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2. 2A [Option ID = 9847]
3. 3A [Option ID = 9848]
4. 2.505A [Option ID = 9846]

Correct Answer :-
e 2.505A [Option ID = 9846]

109) For the transmission of heat from one body to another.

FSHT HT TS d181 § gAY dF FeROT & fAv|
[Question ID = 2376]

1. temperature of the two bodies must be different / @leiT a&31 T ATIHTST 37T BlelT =ATRT [Option ID = 9805]

2. at least one of the bodies must have some source of heating / & & &H Tsh TE T FSAT A TS Ard gt
1fgw [Option ID = 9808]

3. both bodies must be in contact / 2t aEJV Hush H gleit TRT [Option ID = 9807]

4. both bodies must be solids / &l=it aEJV 31 gl=it =TfRT [Option ID = 9806]

Correct Answer :-
« temperature of the two bodies must be different / &l a&c3il T ATIHTT 376197 gl=AT =MfeT [Option ID =
9805]




110) Power dissipation and efficiency of series type switching regulator should follow which trend
respectively?

sygren feafier Wl # wraw srveqy 3R Fderrar F frw vygfea F1 3rgeter w3 aifew?
[Question ID = 2477]

1. Increasing, increasing / 37& §$, gf& &8 [Option ID = 10209]
2. Increasing, reducing / aj? §§, W:e:f [Option ID = 10210]
3. Decreasing, decreasing / Wgé, A §§ [Option ID = 10212]
4, Reducing, increasing / amgé, aﬁg’gé [Option ID = 10211]

Correct Answer :-
« Reducing, increasing / & §‘é’, a;@'gé [Option ID = 10211]

111) Why trickle charging of the batteries is done?

el Sy Raver TnfSter #4t F3a €2
[Question ID = 2359]

1. Increase its power storage capacity / 3T TIT &HdT §alel & TlT [Option ID = 9738]

2. Keep it fresh and fully charged / 38 aTeT 3R g o =Tet @ & forw [Option ID = 9740]

3. Maintain proper electrolyte level / 3/ Selagienge TR F=ITT 3@ & Tl [Option ID = 9737]
4. To maintain even current in battery / §e3f & 3aa7 e W= & fow [Option ID = 9739]

Correct Answer :-

- Keep it fresfrafl) MR/ S FOMY T} Tovwiw. PO AT dlet

112) What will the hysteresis loss in the material when the area of hysteresis loop of a material is
large?

i v gerel & RESRT arer F1 &3 37 § af 39 verd # RN grer fhdaer ghem?
[Question ID = 2402]

1. Small / =g [Option ID = 9909]

2. All of these / T3 fdehed [Option ID = 9911]

3. None of these / 38 & @IS #ff F&T [Option ID = 9912]
4. Large / §3T [Option ID = 9910]

Correct Answer :-
e lLarge / &3T [Option ID = 9910]

113) What will the voltage across resistance R1?

gfaitre R1 & dieest F41 g19m?
[Question ID = 2415]

1. 4.759 V / 4.759 dree [Option ID = 9961]
2. 4.898 V / 4.898 aYec [Option ID = 9963]



3. 4.5V / 4.5 aree [Option ID = 9962]
4.5V / 5 dree [Option ID = 9964]

Correct Answer :-
e 4.898 V / 4.898 diee [Option ID = 9963]

114) What will the voltage across resistance R3?

gfaers R3 & diecs Fa1 2191?
[Question ID = 2416]

1. 5.250 V / 5.250 dree [Option ID = 9966]
2. 5.125V / 5.125 dree [Option ID = 9965]
3. 5.5V /5.5 alee [Option ID = 9967]

4, 5.102 V / 5.102 diee [Option ID = 9968]

Correct Answer :-
e 5.102 V/5.102 dtec [Option ID = 9968]

115) What are the elements of Nucleus of an atom?

YIATY] & TF A1 & ded F41 82

[Question ID = 2464]

1. Both neutrof2i gdﬂ@@dﬁswﬁ@rmptknwmerForu m.Net
Y

2. Neutron / #ggieT [Option ID = 10157]
3. Electron / seiaersT [Option ID = 10159]
4, Proton / 9eisT [Option ID = 10158]

Correct Answer :-
« Both neutron and proton / #ggief 31 Welet g+t [Option ID = 10160]

116) What happens internally in atomic level when external electric field is applied to an intrinsic
semiconductor?

AR T F ITATI] T I F47 ghar ¢ A aredt g & 1 3naie defidsaer o oy B sirar 82
[Question ID = 2361]

1. More number of electron holes pair combination will be evolved / SoieFeisT g SIS TAVSTT $I 310w TEar
& 8F SIwetT [Option ID = 9746]

2. More number of electron holes pair combination will be broken / Selergiet &g SIET HATSTeT 1 31fRw HEar ¢
STt [Option ID = 9745]

3. No electron holes pair combination will be broken / Selerelet f&g SISt HAITT A€l €eal [Option ID = 9747]

4, Tt will behave as extrinsic semiconductor / Tg STET 3TYATHH F FT F cTGER FLIM [Option ID = 9748]

Correct Answer :-
« More number of electron holes pair combination will be broken / Seerelet fg SIS HAIST HT 3 Hear <
SITaafy [Option ID = 9745]



117) What will be the value of susceptibility when the curie constant value is 0.2 and the difference
in critical temperature and paramagnetic curie temperature is 0.01?

9 Fg{ e 71 0.2 § 3 MR AT qoT e FEE a9HA # ¥ 0.01 § a9 Hdgeefierar 1 A 41
grm?

[Question ID = 2418]

1. 2 [Option ID = 9976]

2. 200 [Option ID = 9974]
3. 0.02 [Option ID = 9973]
4. 20 [Option ID = 9975]

Correct Answer :-
» 20 [Option ID = 9975]

118) What will be the capacitance of a capacitor if the charge stored on it's plates is large?

TR Y TATS F41 19l I sHFY et W FATRT 1 arelT ATt TST AT 82
[Question ID = 2411]

1. Small / ©IEr [Option ID = 9946]
2. Zero [ [ [Option ID = 9948]
3. Large / 913Y [Option ID = 9945]
4, Infinite / 3teid [Option ID = 9947]
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Correct Answer :-
 Large / 9131 [Option ID = 9945]

119) What would be the computational value of feedback voltage in a negative feedback amplifier
with A = 100, B = 0.03 and input signal voltage = 30 mV?

T = 100, B = 0.03 3R 37Yc & deter = 30 THAN & WY TF ASNICHF T fhar wraaeraR 7 gfafar aeesr
FT WIAVCHSF Hed FIT g2

[Question ID = 2357]

1. 0.06 V [Option ID = 9730]
2. 0.03 V [Option ID = 9732]
3. 0.09 V [Option ID = 9729]
4. 0.15 V [Option ID = 9731]

Correct Answer :-
e 0.09 V [Option ID = 9729]

120) What is the expression of capacity of a battery?

A8 A aTHaT F AT TTF FATE?

[Question ID = 2342]



1. Voltage rating / @recst IfEaT [Option ID = 9669]

2. Ampere-hour rating / TFIIR-31X Xf&eT [Option ID = 9671]
3. Frequency rating / ey IfEaT [Option ID = 9670]

4, Current rating / &< Ifear [Option ID = 9672]

Correct Answer :-
 Ampere-hour rating / TFIIR-31R 9T [Option ID = 9671]

121) What is the resistivity of lead?

Ry <y gfeRYersar #4782
[Question ID = 2412]

1. 5 Q m [Option ID = 9951]
2.22.5 x 108 Q m [Option ID = 9952]

3.20.8 x 108 Q m [Option ID = 9949]
4. 10 Q m [Option ID = 9950]

Correct Answer :-
« 20.8 x 10°® Q m [Option ID = 9949]

122) What is the time constant of a series R-C circuit?

megnggﬂneeﬂ?ﬁ%rum | www.ErForum.Net

[Question ID = 24

1. RC [Option ID = 9997]
2. R2C [Option ID = 9998]
3. RC2 [Option ID = 10000]
4. R/C [Option ID = 9999]

Correct Answer :-
e RC [Option ID = 9997]

123) What is the ratio of copper required for 4-wire 2-phase ac system to an equivalent 2-wire DC
system?

2-ara3 St RAFed F SUaR 4-aRR 2-Ot Tt RAves & fAT amaeas a1 egara #4182

[Question ID = 2491]

1

2cos~ @ _
1. [Option ID = 10266]

cos“@
2. [Option ID = 10268]



Jcos”(
O
cos?i@

3. [Option ID = 10267]

4 [Option ID = 10265]

Correct Answer :-

124) What is the equation for kW rating calculation in a battery charger using taper method?

T AT AT A o Rftr F1 3 F% Rrtare W 1 siwae F & e aHiwor gt §2
[Question ID = 2382]

1. kW = (N* Ah * 2.25 *0.225 * 0.6 ) / 1000 [Option ID = 9831]
2. kW = (N* Ah * 2.25 *0.225 * 0.8 ) / 1000 [Option ID = 9829]
3. KW = (N* Ah * 0.25 *0.225 * 0.8 ) / 1000 [Option ID = 9830]
4, None of these/ 3=737 & FIg 8T 1T [Option ID = 9832]

Correct Answer :-
o kW = (N* Ah * 2.25 *0.225 * 0.8 ) / 1000 [Option ID = 9829]
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125) What is the value of current in parallel RLC circuit under resonance condition?

3rgerre; i Rufa & gHTATR IRvaH wffe # Regd arr #1 o7 71 82
[Question ID = 2405]

1. Zero / =T [Option ID = 9923]

2. Minimum / =g«Id# [Option ID = 9921]

3. Maximum / 31f&ecsT [Option ID = 9922]

4, None of these/ 378 & Ig &Y &1 [Option ID = 9924]

Correct Answer :-
 Minimum / gsTcd# [Option ID = 9921]

126) What is the SI unit of conductivity?

TR dT T THITE THS FAT 8?2
[Question ID = 2410]

1. Q'Im [Option ID = 9942]
2. Q' 1m1 [Option ID = 9943]
3. Q [Option ID = 9941]

4. Q m [Option ID = 9944]



Correct Answer :-
o Qlm 1 [Option ID = 9943]

127) What is the ranging capacity of the diesel plant?

STl TIF Y &THAT 4T 82
[Question ID = 2440]

1. 100 - 1175 kW / 100 -1175 feftare [Option ID = 10062]
2. 150 - 750 kW / 150 -75 freitare [Option ID = 10061]

3. 150 - 4500 kW / 150 - 4500 fereitare [Option ID = 10064]
4,75 - 3750 kW / 75 -3750 foreitare [Option ID = 10063]

Correct Answer :-
e 75-3750 kW / 75 -3750 fheliare [Option ID = 10063]

128) What is the equivalent of ferromagnetic curie temperature for iron in terms of Kelvin?

IR & fAT Ffeaer F FATARF T aTaATT FT THFET 7471 8?2
[Question ID = 2469]

1. 1418 [Option ID = 10177]
2. 1095 [Option ID = 10180]
3. 995 [Option
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Correct Answer :-
e 1095 [Option ID = 10180]

129) What should be the size of the slide wire of the potentiometer to make it to achieve high
accuracy?

39 WERdT UTed FI F foIT, T d19 ATG I FT TASS IR HAT g1 Tfge?
[Question ID = 2365]

1. as long as possible / TS 8 T 3d=1T of&T [Option ID = 9761]

2. as short as possible / TSITAT g @ 30T ©Ier [Option ID = 9762]

3. 1 meter / T HIeX [Option ID = 9763]

4, neither too thin nor too thick / =T &t g Tl IRaTE a5 Tisr [Option ID = 9764]

Correct Answer :-

« as long as possible / fSd=T g Tk 3T &iaT [Option ID = 9761]

130) What does S in 'IP 11S’ represent?

'IP 11S' # S 7 golfaT §7?



[Question ID = 2380]

1. Machine was tested when not running condition / Telel arell AT o7 gler X #MeT T Tr&ToT fhaT araT [Option
ID = 9822]

2. Machine was tested when it was in running / @relel & gRTeT #7feT &1 TdieToT fham aram [Option ID = 9821]

3. Machine was tested at light load / & #R IR #7feT T 91&70T fohar aram| [Option ID = 9823]

4, None of these / 35137 & 15 it 18T [Option ID = 9824]

Correct Answer :-

 Machine was tested when not running condition / @elet arell AT o7 glet OX 72T 1 gRreTor fohar arar
[Option ID = 9822]

131) Commutator motors have:-

FFGE A # 77 e §:-
[Question ID = 2353]

1. Absolutely uniform torque / fSrefeher Teh HTeT €Teh [Option ID = 9713]

2. Approximately uniform torque / S13T$T3T Teh THT &I [Option ID = 9714]
3. Non-uniform torque / 3TH#TeT €T [Option ID = 9715]

4, None of these / 35137 & 15 8t 18T [Option ID = 9716]

Correct Answer :-
« Non-uniform torque / 3/#T & [Option ID = 9715]

132) which fEprijenna pecss TRPFOIPHY (RN OF B e PER e hdRstons?

A Aex F1 i@ #F & wtaar Rewr 30« araseT star adar §2 [Question ID = 2488]

1. Field winding / gATaER &7 [Option ID = 10255]
2. Brushes / §13T [Option ID = 10254]
3. Armature winding / 3R gATaER [Option ID = 10256]

4. Field magnets / $reg #aate [Option ID = 10253]

Correct Answer :-
« Field winding / gATaER &7 [Option ID = 10255]

133) Which of the following phenomenon shows the regulation of an alternator?

TF HoetaAe] Y e et & & et gfdmar gutch 82 [Question ID = 2481]

1. The increase in terminal voltage when load is thrown off / ST @S theh f&T SITeTT & A« f&eTel dleest # giE
[Option ID = 10227]

2. The variation of terminal voltage under the conditions of over and under excitation / 3if&Ihdd R =T
Scdota Fr gRFEAfAAT & dgd effisTer dreest $r ffiw=ar [Option ID = 10226]

3. Terminal voltage at zero power factor / =% UTaX e # effietel dledst [Option ID = 10228]

4, The reduction in terminal voltage when alternator is on full load / 3TeeIaieX oIS &l W efilaiel dlecst & HaT
[Option ID = 10225]

Correct Answer :-



« The increase in terminal voltage when load is thrown off / 518 &1s tha fear ST & e ffieTe decat o gig
[Option ID = 10227]

134) Which one is increased when negative feedback voltage is applied to an amplifier?

SR W FIT 93T § T HOMcAS Pzds aledsT T TrTehrRT & o9 ATt 82 [Question ID = 2445]

1. Input impedance / g+T9e gfaaTem [Option ID = 10082]

2. Output Impedance / 3T3€Ye YfcsTenm [Option ID = 10081]
3. Voltage gain / @lecst sigl=T [Option ID = 10084]

4, Impedance matching / gfasrer f&ereT [Option ID = 10083]

Correct Answer :-
« Input impedance / g-79¢ YfcsTem [Option ID = 10082]

135) The transition temperature of mercury is.

URT T HTEYTAT aT9AT I8 & | [Question ID = 2473]

1. 9.22°K [Option ID = 10194]
2. 18.0°K [Option ID = 10193]
3. 1.14'K [Option ID = 10196]
4. 4.12°K [Option ID = 10195]

Correct Answer :-
e 4,12°K [Option ID = 10195]
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136) Region along load line including all points between saturation and cut-off is known as:-
Tt 3 3ias & drr aft Rt afea Az aa & o &7 F 77 Fe7 31T 8:-
[Question ID = 2462]

1. Saturation region / HcJfCe &1 [Option ID = 10150]

2. Linear region / @ &1 [Option ID = 10151]

3. Cut-off region / 37ceh &1 [Option ID = 10149]

4, None of these / 3o13 & 15 it 8T [Option ID = 10152]

Correct Answer :-
o Linear region / Yf& &7 [Option ID = 10151]

137) Gain in kinetic energy is equal to:-

ST FAT & AT TP S -
[Question ID = 2379]

1. loss in P.E + work against friction / feafast =T  gifa+a¥or & fawg w13 [Option ID = 9819]
2. loss in P.E * work against friction / f&afast Foit & gifarador & fa®g &1 [Option ID = 9820]
3. loss in P.E - work against friction / Feafast 4T & g1fer - a¥oT & f&ems e [Option ID = 9817]
4, loss in K.E - work against friction / 31fast Fit & g1fa - 90T & fa®g 137 [Option ID = 9818]



Correct Answer :-

« loss in P.E - work against friction / FEfast FaT & g1far - a¥uT & @ e [Option ID = 9817]

138) Harmonics in any transformer are generated due to which of the following factor?

TF G A grAtfTd g & fav farafaf@a # & w3 77 FRo7 8 I%ar 82 [Question ID = 2486]

1. Varying current in the windings / fafecs@ # Sgerdr sic [Option ID = 10247]
2. Varying load / 3TefdT i3 [Option ID = 10245]

3. Saturation of core / R @I A¢IAeT [Option ID = 10248]

4. Poor insulating properties / @I ggeIfEaT Giaélsr [Option ID = 10246]

Correct Answer :-
« Saturation of core / @I &T dg2r [Option ID = 10248]

139) Current passing through resistor R2:-

yfaiers R2 @ [ arelT Fe:-
[Question ID = 2414]

1. 1.65 mA [Option ID = 9960]
2. 1 mA [Option ID = 9958]

3. 1.75 mA [Option ID = 9957]
4. 1.25 mA [Option ID = 9959]

correct ansferpgineer's Forum | www.ErForum.Net

e 1.65 mA [Option ID = 9960]

140) The flux of magnetic circuits is analogous to which of the following terms in electric circuit?
v fagga wfie & Prafaf@a usel # & #la a1 aree gadhrr afde F yare & rgeT 82
[Question ID = 2401]

1. Conductivity / d@TeTerdr [Option ID = 9905]

2. Current density / &IRT "sIcd [Option ID = 9907]
3. Current / 9T [Option ID = 9906]

4, E.m.f/ §. TH. T% [Option ID = 9908]

Correct Answer :-
e Current / &RT [Option ID = 9906]

141) The range can be increased by using which of the following instrument?

frrafaf@a & ¥ Fia-d) 30T F71 39ANT 3 Y I AR & & [T seaATe fFar 51 gFar 82
[Question ID = 2363]

1. Energymeters / FaiT #iex [Option ID = 9756]
2. Voltmeters / atecTeX [Option ID = 9755]



3. Ammeters / TFAeX [Option ID = 9753]
4. Current transformers / @c gRIWIAR [Option ID = 9754]

Correct Answer :-
« Current transformers / 3¢ gEHIAR [Option ID = 9754]

142) The breaking torque of induction type single-phase energy meter is:-

SeSFUT THR Thol-thol Foll HICT T AfFHT T I 8T &:-
[Question ID = 2360]

1. Directly proportional to the square of the flux / ¥aTg & @37 & €Y 3TeIdTicieh [Option ID = 9743]

2. Directly proportional to the flux / JaTg & ¥1e 31Tearfaish [Option ID = 9741]

3. Inversely proportional to the flux / JaTg & fa9did 3mearfais [Option ID = 9742]

4. Inversely proportional to the square of the flux / JaTg & @31 & T’ 31megaricieh [Option ID = 9744]

Correct Answer :-
« Directly proportional to the square of the flux / 9/aTg o &31 & &e 3TTeIaTiceh [Option ID = 9743]

143) The application of Special purpose material handling equipments is:-

Y yATer Freet 3T IUFHTOT FT TF ITAT &:-

[Question ID = 2460]

1. Both ProcedHDE) RO :Bul Gl AT  WARAREE Db e )

2. Process layout / 3T3413‘c: [Option ID = 10141]
3. Line layout / &T8eT @33¢ [Option ID = 10142]
4, None of these / 3137 & 15 it 8T [Option ID = 10144]

Correct Answer :-
« Line layout / @T8eT &i3113¢ [Option ID = 10142]

144) The value of the current controlled voltage source, given B=0.8 and i; =9.5mA, is:-

IfE B=0.8 3R i; =9.5mA ¥ A Fie AT aedsr A FT H{ea grm:-
[Question ID = 2389]

1. 7.6mV [Option ID = 9859]

2. 0.0051mV [Option ID = 9857]
3. 0.0011mV [Option ID = 9858]
4. 8mV [Option ID = 9860]

Correct Answer :-
e 7.6mV [Option ID = 9859]

145) The draught produced by chimney of given height at given outside temperature.



&Y arft Frrg arelt Rwht § amedt aoeer (feram g3m) W 3EuRE &Y e gie |
[Question ID = 2372]

1. may increase or decrease / §¢ TehdT g IT T¢ FehdT ¢ [Option ID = 9792]

2. increases if the chimney gas temperature increases / 39R I 3T T ATIATT S6dT § df §6 Siiar g [Option ID
= 9790]

3. decreases, if the chimney gas temperature decreases / 39R IS 3 &7 ATIHTT A & of He 8l oIl &
[Option ID = 9789]

4, remains same irrespective of chimney gas temperature / RI#T 3T & ATIHT & drasic Ueh AT I g
[Option ID = 9791]

Correct Answer :-

« increases if the chimney gas temperature increases / 379K TRI#F 3T &7 ATIATT F&dT & of 96 Sl g [Option
ID = 9790]

146) The chemical effect of current is used in:-

FC FT THATAS TH1T FaA 39A1er fFar rar 2:-
[Question ID = 2362]

1. DC voltmeter / 3t | aTecHIEI [Option ID = 9752]

2. D.C. ammeter hour meter / rET THHTEX ger #HieX [Option ID = 9749]
3. D.C. ammeter / 3" TAHET [Option ID = 9750]

4. A.C. ammeter / T HT THHAIET [Option ID = 9751]
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+ D.C. ammeter houf meter / 3T TAHEY geT #HleX [Option ID = 9749]

147) The open circuit voltage of any storage cell depends on which among the following?

(i) chemical constituents
(ii) strength of its electrolyte
(iii) temperature

farelt oft stswoT Qe F1 Gor wfbe Atees T @ @ 59 W R Far 82

(i) Efas s

(i) 38 sAFCIATEE A aTHd
(i) aTATeT

[Question ID = 2344]

1. (i), (ii) and (iii) / (i), (ii) 37 (iii) [Option ID = 9680]
2. (i) and (iii) / (ii) 31K (iii) [Option ID = 9679]

3. (i) and (ii) / (i) 3iR (i) [Option ID = 9678]

4, only (i) / &% (i) [Option ID = 9677]

Correct Answer :-

o (i), (i) and (i) / (i), (ii) 3R (iii) [Option ID = 9680]



148) At what angle difference is the main winding and the start winding separated in a spilt phase
capacitor start induction motor?

frenfora =avor e (Furflie) arer s Aex # et For e W AET goTaer #R guw gAEer Rgaa
B 8?

[Question ID = 2383]

1. 30° mechanical / 30 f33ft Hh e [Option ID = 9836]
2. 90° electrical / 90 f33ft Seifdeaner [Option ID = 9834]
3. 45° electrical / 45 f33f saifdecaer [Option ID = 9833]
4, 45° mechanical / 45 733t Hfaaer [Option ID = 9835]

Correct Answer :-
 90° electrical / 90 f33ft seifdeaner [Option ID = 9834]

149) Calculate the minimum sampling rate to avoid aliasing when a continuous time signal is given
by:- x(t) = 5 cos 400nt

39geA § T & FT FeTad FHAT & Y A0 Y, F9 TF e @77 T x(&) = 5 cos 400nt gaRT 27w Sirar
3-

[Question ID = 2438]

1. 100 Hz / 100 g&sT [Option ID = 10053]

2. 250 Hz / 250 g3 [Option ID = 10056]
3. 400 Hz / 400 g3 [Option ID = 10055]

+ 200/ 0 FpiggmeePS Forum | www.ErForum.Net

Correct Answer :-
« 400 Hz / 400 g&sT [Option ID = 10055]

150) Calculate the Nyquist rate for sampling when a continuous time signal is given by:-
x(t) = 5 cos 100nt +10 cos 200nt - 15 cos 300nt

AHATHOT & fAT AsfFaTe ax Y 701 FY, I 0 A g7 ¥hd, F AR o e g:-
x(t) = 5 cos 100nt +10 cos 200nt - 15 cos 300nt

[Question ID = 2437]

1. 100 Hz / 100 g&sT [Option ID = 10052]
2. 150 Hz / 150 &<t [Option ID = 10051]
3. 300 Hz / 300 g3t [Option ID = 10049]
4, 600 Hz / 600 g&sT [Option ID = 10050]

Correct Answer :-
« 300 Hz / 300 g&sT [Option ID = 10049]

Topic:- UPPCL_Feb18_JETE_Set02_GA

1)



Which Ministry is responsible for implementation of foreign contribution of regulation act?

Fi 91 7T RfATAa sfRfEas & Qe A F FTaaa F Qv 3caer 82
[Question ID = 381]

1. Ministry of finance / fdcd #aTerar [Option ID = 1741]

2. Ministry of Corporate Affairs / HRURE &I FHATT [Option ID = 1743]
3. Ministry of Home Affairs / /g HATeT [Option ID = 1742]

4. None of these / 3781 & F1$ 8ff &Y [Option ID = 1744]

Correct Answer :-
e Ministry of Home Affairs / ?IC?W [Option ID = 1742]

2) Which battle took place between Babur and Rana Sanga?

e} 3R 7o Fiem & i i d doE P =i @2
[Question ID = 390]

1. Haldighati / gecrameér [Option ID = 1778]
2. Ghagra / g19RT [Option ID = 1780]

3. Khanwa / @Te1ar [Option ID = 1779]

4, Chanderi / @i¢dr [Option ID = 1777]

Correct Answer :-

 Khanwa / @re1ar [Option ID = 1|779]

-------------------- Engineer's-Forum-{-www-ErForum-Net-——

3) Which foreign Airlines recently became the first service provider to operate at Srinagar
International Airport?

T & H AR a1 3733 F) VAT YT F¥at aATell Tgall HAWRTSET RAATAGT FieT €@ §2
[Question ID = 385]

1. Lufthansa / o4& [Option ID = 1757]

2. Air Asia / TR TTrET [Option ID = 1760]

3. Etihad / vfagre [Option ID = 1759]

4, Fly Emirates / wells Uf&iked [Option ID = 1758]

Correct Answer :-
o Air Asia / T3X Tfram [Option ID = 1760]

4) Which Indian Ruler became the first to start Hajj Pilgrimage/Yatra at state expenses?

TS & T G F e / AT YT FIA ATelT Tgell STRAT ATHF FieT 412
[Question ID = 389]

1. Alauddin khilji / 3TeT3€¥eT f&esit [Option ID = 1775]
2. Ahmed Shah Abdali / 37g#¢ Qg 37screll [Option ID = 1776]
3. Aurangzeb / 3iReTais [Option ID = 1773]



4. Akbar / 31T [Option ID = 1774]

Correct Answer :-
o Akbar / 3TheR [Option ID = 1774]

5) Which Indian City became the first to have 'Robocop’' for managing traffic issues?

AT § 3 7 & AT QGPIT" FT FEAAT Fe1 ATl GgalT HRATT AT FieT AT 82
[Question ID = 386]

1. Indore / &R [Option ID = 1763]

2. Chennai / I==1$ [Option ID = 1764]

3. Bengaluru / s3Tef% [Option ID = 1761]

4, New Delhi / 15 f&eelr [Option ID = 1762]

Correct Answer :-
« Indore / &R [Option ID = 1763]

6) Which is the first South American country to host summer Olympics?

AeAFTeNT TATEIFH FT AT FIA aTell Tgall Grayor FANET o5 FiT AT §?
[Question ID = 383]

1. Argentina / 3Tsi=¢t=TT [Option ID = 1749]

2. cnile/ rekoRgintees's Forum | www.ErForum.Net

3. Paraguay / &1 [Option ID = 1751]
4. Brazil / siTsiter [Option ID = 1750]

Correct Answer :-
« Brazil / sirsiver [Option ID = 1750]

7) Where is the centre for ecological science located in India?
oRa # TRy R $g we Rya §?
[Question ID = 394]

1. Mumbai / §s$ [Option ID = 1794]

2. Bengaluru / 3Tef% [Option ID = 1796]

3. New Delhi / 73T f&eelT [Option ID = 1793]
4, Vellore / deak [Option ID = 1795]

Correct Answer :-

« Bengaluru / s9Tef® [Option ID = 1796]

8) Where is the Central Tobacco Research Institute located in India?

FAT T T FEATT 7R F Fgi oo 2



[Question ID = 378]

1. Indore / &R [Option ID = 1731]

2. Rajahmundry / I/ #=¢fT [Option ID = 1729]
3. Pune / goT [Option ID = 1730]

4. Yevatmal / Iad#rer [Option ID = 1732]

Correct Answer :-
« Rajahmundry / I5/#=¢iT [Option ID = 1729]

9) Where was the All India Muslim League established?

e sl FfFer ofter Y TuTge Fal g’é fi?
[Question ID = 392]

1. Dhaka / @rerT [Option ID = 1787]

2. Lucknow / eT@+3 [Option ID = 1786]
3. Lahore / @TgIX [Option ID = 1785]

4. Calcutta / shelehcdr [Option ID = 1788]

Correct Answer :-
o Dhaka / @renr [Option ID = 1787]

10) With the support of which country is the Rawatbhata nuclear power plant set up in Rajasthan?

e 2 & ek N GHARE LSRR Jaaav . ErForum. Net

[Question ID = 380]

1. U.S.A / G s 31#A{RT [Option ID = 1740]
2. France / % [Option ID = 1737]

3. Russia / ¥F [Option ID = 1738]

4. Canada / sd1sT [Option ID = 1739]

Correct Answer :-
» Canada / ST [Option ID = 1739]

11) Silver Tanka and Copper Jital coins were introduced by .

TS &l 3 I Sitaer & e GaRT T AT |
[Question ID = 377]

1. Firuz Shah Tughlaq / TSt 218 qaTereh [Option ID = 1727]
2. Sikander Lodi / f&@ex @tér [Option ID = 1728]

3. Ilitutmish / edfaA=r [Option ID = 1725]

4. Abu Bakr Shah / 31§ ssh 2TTg [Option ID = 1726]

Correct Answer :-
« Tlitutmish / geddfaer [Option ID = 1725]



12) Doha Development Round is often in news. Which of the following options best describe it?

AT fae gt 3 @’ & wEar | v aw fawent & & FiT 91 suFT wad e Rawor 2
[Question ID = 382]

1. None of these / =781 & I #Y sTET [Option ID = 1748]

2. Talks at WTO regarding world trade / WTO & afRaeh eI & &=y & aTddid [Option ID = 1747]

3. Talks regarding international monetary system / 3icRTSEIT FHifge JoTTel & Ty H T [Option ID =
1745]

4, Talks regarding refugee crisis / RRUTT Tehe & Teawer F STddId [Option ID = 1746]

Correct Answer :-
o Talks at WTO regarding world trade / WTO & 3fgeh caTIR & &=y H STcdid [Option ID = 1747]

13) Who is the Chairman of Inter State Council and National Water Resources Council in India ?

T & 3R T IR 31T I srer AT aRwe & regat wid §2
[Question ID = 395]

1. Prime Minister / T&ITsT#=4T [Option ID = 1800]

2. Vice President of India / ¥R & 39rsgqfa [Option ID = 1799]
3. Minister of water resources / STl &< #FAT [Option ID = 1798]
4. President of India / iR & Irsgafa [Option ID = 1797]
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e Prime Minister / [Option ID = 1800]

14) Who was the first finance minister of Independent India?

T R & Tgd Rea 7 e 42
[Question ID = 393]

1. Sardar Patel / TRGR 9cer [Option ID = 1792]

2. Shanmukham Chetty / =& dgY [Option ID = 1789]
3. Morarji Desai / ARSI ¢ATS [Option ID = 1791]

4, Jawaharlal Nehru / STaTglelTel s1g% [Option ID = 1790]

Correct Answer :-
« Shanmukham Chetty / MT=#]&H €T [Option ID = 1789]

15) In which of the following states is the Indian penal code not applicable?
g & forw o F TR &3 wfgar amg dt @vel?
[Question ID = 396]

1. Tripura / 93T [Option ID = 1803]
2. Sikkim / f&fFawa [Option ID = 1802]



3. Jammu and Kashmir / GD:F[\}ﬁT F2HR [Option ID = 1804]
4, Nagaland / =ITeTrels [Option ID = 1801]

Correct Answer :-
+ Jammu and Kashmir / ST## 3R &2 [Option ID = 1804]

16) In which year did the Surat split of Indian National Congress took place?

ARAT ITErT HTaT 1 G sTerer fha qrer g3im ar?
[Question ID = 388]

1. 1911 [Option ID = 1770]
2. 1909 [Option ID = 1769]
3. 1907 [Option ID = 1771]
4. 1905 [Option ID = 1772]

Correct Answer :-
» 1907 [Option ID = 1771]

17) Electronic Voting Machines (EVM) is manufactured in India by:-
gaaciieih aifear AefieT (EVM) & fAATor IRa & &l #4182

[Question ID = 391]

1 oon s« Eopyiy g oSonanT FYARRET ForamiN ee

2. BEL only / shael
3. Electronics Corporation of India Only / %hael ¥R & Solaclieierd ol GdRT [Option ID = 1782]
4, None of these / 3=137 & 15 8T 1gT [Option ID = 1784]

Correct Answer :-
o Both BEL & Electronics Corporation of India / BEL Td iR & Selacliaard o191 [Option ID = 1783]

18) Doongri festival is celebrated in which state of India?

Y U R & FE ToT A AT SATT 82
[Question ID = 384]

1. Assam / 319& [Option ID = 1756]

2. Himachal Pradesh / fg#Tarer weer [Option ID = 1754]

3. Uttarakhand / 3caRT@s [Option ID = 1755]

4. Jammu and Kashmir / ST 3R $2#HX [Option ID = 1753]

Correct Answer :-
« Himachal Pradesh / fgdTarer weer [Option ID = 1754]

19) Why did the Simon Commission came to India?

WTSHT FHHIAT HRT F, AT AT?



[Question ID = 387]

1. To Integrate the Princely states / ISTAT3T &T TehTehi 0T it [Option ID = 1765]

2. Reviewing polictical Reforms / Irsffaifdieh FERT 1 3iTeheleT =1 [Option ID = 1768]
3. For the dominion status of India / $TRd & W8fca I f&Uf & forw [Option ID = 1767]
4, To end Princely states rule / ISTaTSt & ST T 37d et [Option ID = 1766]

Correct Answer :-
« Reviewing polictical Reforms / Irstfaifceh FERT T 3HTeheleT A [Option ID = 1768]

20) The base year for the new series of IIP, WPI data is .

IIP, WPI HT&3I T 7t S/@aT &7 TR 9§ |
[Question ID = 379]

1. 2011-12 [Option ID = 1735]
2. 2010-11 [Option ID = 1734]
3. 2004-04 [Option ID = 1733]
4. 2012-13 [Option ID = 1736]

Correct Answer :-
e 2011-12 [Option ID = 1735]

Topic:- UPPCL_Feb18_JETE_Set02_RS
Engineer's Forum | www.ErForum.Net

1) Which of the given series of English alphabets follows the rule that the number of alphabets
skipped between two consecutive alphabets increases by 1 successively?

ST @ 3N & MaRT At FleT WY @ $6 A 7 ITae FIA § Y &Y FATAR 7R & i F F TG 7aRT Ay
WEAT & aR U & 9¢ STt 82

[Question ID = 915]

1. 1) A-C-F-] [Option ID = 3877]

2. 3) Neither 1 nor 2 / a7 ar 1 3R & € 2 [Option ID = 3879]
3. 4) All of these / T#f Tdsed [Option ID = 3880]

4. 2) F-J-0-U-B [Option ID = 3878]

Correct Answer :-
 4) All of these / T3f Tdsed [Option ID = 3880]

2) Which letter of English alphabet should replace the "?" mark?

AT HTNT T HieT FT 78R "?" Reg A STo1g 3meam?



[Question ID = 920]

1. K [Option ID = 3900]
2. B [Option ID = 3897]
3. H [Option ID = 3898]
4. I [Option ID = 3899]

Correct Answer :-
e B [Option ID = 3897]

3) Given below is a question and two statements numbered 1 and 2. Read both the statements and
then decide which statements are sufficient to answer the given question.

Question: Is A2>B2 [GIVEN: A & B are natural numbers]

Statement 1: A is a prime number.
Statement 2: A2 is divisible by 4 and B2 is divisble by 6.

v wrer o VG RS St QU Nk MWk i A PRNR b e 20 5

T g1 @ Fla @ Fua FTA |
yeaT: F41 A2>B2 [A1d &):A Td B YT fa® §EATT §]

HYA 1: A U JHTST TEAT ¢ |
FUT 2: A2 4 ¥ e ¢ 31 B2, 6 ¥ Rssw

[Question ID = 917]

1. Both 1 & 2/ 1 Tg 2 gt [Option ID = 3888]

2. Neither 1 nor 2 / =&l 1 A& 2 [Option ID = 3887]
3. Only 1 / sder 1 [Option ID = 3885]

4, Only 2 / aer 2 [Option ID = 3886]

Correct Answer :-
e Both 1 &2/ 11Tg 2 gt [Option ID = 3888]

4) Given below are two different orientation of the same cubical dice. How many dots are there on
the surface having 5 dots?

A1 v IR 9T F S T el HAEUTI HY R &Y A 7| 5 g arer Fae Y qEdl N A Weaw W
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[Question ID = 921]

1. 1 [Option ID = 3901]
2. 4 [Option ID = 3903]
3. 3 [Option ID = 3902]
4. 6 [Option ID = 3904]

Correct Answer :-
e 1 [Option ID = 3901]

5) Govardhan is unmarried and is the youngest of two sons of Hiraman who is married to Gitanjali.
Gitanjali is mother in law of Komal a TV actress and Manoj who is married to her daughter Saloni.
Saloni only child is Prakhar a 10 year old boy while Komal has a son Dipak and a daughter Dipali.
Which of the given pair of relatives are from two different generations?

maﬂaemmaﬁ%magWMQnﬁtﬁmmﬁ#aé%,a?a’raz’r##ma-am dqrsrelt &Y rETHRT
mmmmmmwmmﬁ 1 T | Teh $ THat Teare v 10 quf wEH vE@w §
TR P F1 TF 32T A9 AT T 38 Qureh §| Rw v Reeart F T a1 e & e et At @ §2

[Question ID = 916]

1. Govarchan, EIRQJiRB @#-BId@ KRy WWW.ErForum.Net

2. Manoj, Komal / , FiFe [Option ID = 3881]
3. Prakhar, Dipali / 9&R, Eﬁtn?fr [Option ID = 3883]
4, None of these / 35137 & 15 it 18T [Option ID = 3884]

Correct Answer :-

« None of these / 35137 & @IS §i 5T [Option ID = 3884]

6) Select from the given Venn Diagrams the one which represent the relation between
"Sportpersons, Fastballers, Cricketers " as exists in the real world.

3 71w 377 3yt F ¥ Fler @1 aEafdF AT F IegAn "BeE), AT dear, fhde B & v F arealE
IS Y T T H AT ¢

@O b

(1) (2) (3) (4)
[Question ID = 910]

1. 1 [Option ID = 3857]
2. 4 [Option ID = 3860]
3. 2 [Option ID = 3858]
4. 3 [Option ID = 3859]



Correct Answer :-
o 3 [Option ID = 3859]

7) In a class of 48 students two third are girls. Manuj who scored 28 rank overall is the 9t" topper
among Boys. If each student gets a different rank then how many girls are ranked behind Manuj?

48 BTl Y Faw 7 Y foers asfrat §, e 1 ¥F ol waw F 28 af 3k aswt 7 941 8. I & BT F T 3rerer Jrerer
¥ o et esfral A iF Aaqar a o §2?

[Question ID = 908]

1. 11 [Option ID = 3849]
2. 13 [Option ID = 3851]
3. 12 [Option ID = 3850]
4. 17 [Option ID = 3852]

Correct Answer :-
e 13 [Option ID = 3851]

8) From the option figures 1 to 4 chose the one which exhibits the same relationship with figure "C"
as expressed between figure A and B.

&t ot fasreq il 1 & 4 F § a¢ ot I St R "C" F A1y I Fraey WeRia Farg STA R B F fa &
gl
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[Question ID = 904]

2>

3 [Option ID = 3835]

R

2 [Option ID = 3834]

§io

1 [Option ID = 3833]

4 [Option ID = 3836]

Correct Answer :-



@

4 [Option ID = 3836]

9) Chamanlal is the father in law of Pankaj's father Ashok who is married to Nidhi's daughter Maya.
Chamanla's only son Vivek is married to Aditi and the couple has two daughters Kavya and Varuna.
How is Pankaj related to Vivek?

dﬁﬂ?ﬁﬂﬂhﬁﬂﬁ&ﬂﬁﬁﬁ#ﬁﬂ#?&*@ﬂﬁﬂ THTATT & THhald a¢ Fr ard rfefa
¥ g% ¥ 3R 3w N3 1 oY afet Frear AR Fwon §| g AaE @ F il §2

[Question ID = 907]

1. Maternal Cousins / #RY #1$ [Option ID = 3848]
2. Maternal Uncle / ATAT [Option ID = 3845]

3. Nephew / TSI [Option ID = 3846]

4. Brother In Law / &TeIT [Option ID = 3847]

Correct Answer :-
« Nephew / TSI [Option ID = 3846]

10) If Fn(4, 3)=19;
Fn(6, 7)=55;
Fn(5, 8)=53;

T A=PERgheer's Forum | www.ErForum.Net

Iy Fn(4, 3)=19;
Fn(6, 7)=55;

Fn(5, 8)=53;

Fn(T, 3)=99; A T=?

[Question ID = 914]

1. 28 [Option ID = 3876]
2. 20 [Option ID = 3874]
3. 18 [Option ID = 3873]
4. 24 [Option ID = 3875]

Correct Answer :-
e 24 [Option ID = 3875]

11) If the under given letters of English alphabet are arranged in a proper sequence we get the
name of a/an

e SR T 3r3s 9T & 3reRT 1 G FH F T A0 Q) T T ATH 9T°d 1 &

[A,A,M, U, Y, N]
[Question ID = 918]

1. Indian Festival / TR AlgR [Option ID = 3892]



2. Indian City / 8T 218X [Option ID = 3890]
3. Indian Food Item / Hﬂ?ﬂﬂma}_{g [Option ID = 3889]
4, Indian River / TR 51T [Option ID = 3891]

Correct Answer :-
o Indian River / IR =TT [Option ID = 3891]

12) A large cuboid having dimensions 6 x 5 x 3 are coloured on two of the largest surface and then
broken into smaller identical cubes having dimensions 1 x 1 x 1. How many of these smaller cubes
will not have colour on them?

TS 92 GATH FIAHT AT 6 x 5 x 3 § & T TaW 92 Ade! ) Wt F 916 38 1 x 1 x 1 T aT TATT gt F st
ST ¥ | 31 B Tl 7 ¥ Rt aX T Rrergper 7@ oo @2

[Question ID = 919]

1. 36 [Option ID = 3894]
2. 64 [Option ID = 3896]
3. 40 [Option ID = 3895]
4. 30 [Option ID = 3893]

Correct Answer :-
o 30 [Option ID = 3893]

13) Kalyani starts driving to her sister's home which is located on a straight road in the North west
driving away ﬁ:f:eo toward m Il redtatiraht locCdted "X" Kms fro main road.
If the distance of the restaurant from the initial point is exactly 22 kms then what is the
approximate value of X?

Fearoft Scax aftes e F Ry 3rqe g8 & =X AN 60 km 33 ¥ & fAT v WY W3F 91 MY T Y& FIA
| 20 km Taet & a1 95 TS WSF W g I "X" km X Ua v B WaART Y WE 9971 4t §| AR et g
¥ TFarT $Y gt S 22 km B A "X" T AT erererer frcren 82

[Question ID = 923]

1. 10 [Option ID = 3911]
2. 12 [Option ID = 3912]
3. 9 [Option ID = 3910]
4. 8 [Option ID = 3909]

Correct Answer :-
e 9 [Option ID = 3910]

14) Five movies A, B, C, D and E are to be released on five different days from Monday to Friday, one
movie per day, by keeping the following rules in mind:-

[1] Movie D cannot be released on Monday.

[2] If movie A is released on Monday then movie D will be released on Friday.
[3 ] If movie D is released on Tuesday then movie B will be released on Monday.
[4 ] Movie C is released on the next day of release of movie E.



If movie B was released on Tuesday then which movie was released on Monday?

ure fedt A, B, C, D 3R E §1WaR & YHAR aF qid 3rerar-37ra9r et o¥ Refier it s, v et & v frow &
%ﬂwﬁ,sﬂmﬁaﬁzm#wﬁgtr:-

[1] 7Y D F WHaR 1 Refter 7@t famam s @

[2] af% Reewr A it \rar Ft Refter B smar & @ e D &t ywar &1 Refier = sreem)
[3] 3R fFe# D HITeaR & SIY $1 STt § df e B & @ar &Y Relier fmar smeem)

[4] RFea C fhed E & Rells & 39t fet Refisr iy St #1

i Ared B F Haraar &) Relisr fFam = o1, ot fFa fesr Y 1ear #Y Relier fvar = a2
[Question ID = 906]

1. E [Option ID = 3842]
2. A [Option ID = 3841]
3. C [Option ID = 3843]
4, Cannot be determined / T3 sT&T &< Tehdt [Option ID = 3844]

Correct Answer :-
e A [Option ID = 3841]

15) Find the next term of the given series.

& =AY ST FT 3ETAT UG AT FL|

s 24,60, 1 ngmeer's Forum | www.ErForum.Net

[Question ID = 922]

1. 240 [Option ID = 3907]
2. 270 [Option ID = 3908]
3. 210 [Option ID = 3906]
4. 180 [Option ID = 3905]

Correct Answer :-
e 210 [Option ID = 3906]

16) Find the Odd One Out.
IrHaTa faswed g+ |
[Question ID = 905]

1. Rocket / e [Option ID = 3838]

2. Meteors / &#hd [Option ID = 3840]
3. Star / dRT [Option ID = 3837]

4. Planets / &g [Option ID = 3839]

Correct Answer :-
 Rocket / Jhe [Option ID = 3838]



17) Look at the four images given below .Three of them follow a certain pattern and one among
them is different. Find the odd image out.

Y e 77 ar A #Y eure @ | 399 @ AT v ARad dest F1 qree Fa € SafF s9d @ vF 39T §1 35T

ofa @lst|
oY 2l Y oo Y olo )
K“@\' 3 I/\Eb
(

a) (b) (c) (d)

[Question ID = 912]

1. b [Option ID = 3866]
2. d [Option ID = 3868]
3. a [Option ID = 3865]
4. c [Option ID = 3867]

Correct Answer :-
e b [Option ID = 3866]

18) Abdul is driving on a straight road. He turns 45° to his right, driven for few minutes and then
takes a left turn. If he is now facing the West direction then which direction was he driving towards
at the very beginning?

o et F3F 91 AT TAT @1 ¢ | I HT 45° S AZAT S, TS & M TAW F 1€ g AT 73 A ¢ | A

e e e RSO PR T OO 2= FEBFLIm. Nt

[Question ID = 909]

1. North West / 3caR af¥a# [Option ID = 3854]
2. North East / e qd [Option ID = 3853]

3. South West / &f&ror gfae [Option ID = 3855]
4, South / &f&oT [Option ID = 3856]

Correct Answer :-
 North West / 3caX gf@e [Option ID = 3854]

19) What is the angle made by the minute and hour hand of a clock at 3:35 PM?

3:35 PM 7ot ffiere 3iv 9 i g3t & i qaa arem Hior frder ghar 82
[Question ID = 911]

1. 97.50 [Option ID = 3862]

2. 102.59 [Option ID = 3863]

3. None of these / 318 & @IS 8T #&T [Option ID = 3864]
4. 87.5° [Option ID = 3861]

Correct Answer :-
e 102.5° [Option ID = 3863]



20) Birju was sent to jail for a 225 days jail term. If he was released on Monday morning then how
many Sundays did he spend in jail?

fo] 1 225 foret 0 Sier Sy Tl g1 3R T€ VAR H1 Yarg ReT g3 47 A 3/er ofer A foherer WAaR e 42
[Question ID = 913]

1. 33 [Option ID = 3871]
2. 31 [Option ID = 3869]
3. 32 [Option ID = 3870]
4, Cannot be determined / @ =Tl & Tehdl [Option ID = 3872]

Correct Answer :-
e 32 [Option ID = 3870]

Topic:- UPPCL_Feb18_JETE_Set02_GH

1) 3YAFT ASHTA F AR TR HT el & |

T el F FHH AY Teltaer anferer #1379 § ‘gt F argare A iy 3 sEF FRor AtEw F @ arer aRadsr gedt
& araHTe ¥ @Y W 39 3Ry (I 100 wreit & 3ttad aTTAT W 10 BReTgre 3 A §) F aRom Faw s &
AT & Fgam, RaEes! AR 7afiRt & Raes, w9 & sava 7 3fg 3 aavafa qur Seq sera w gemat & w9
& |THA 3T TH &1

Taiteer aTfIer gferr it Rl a8t THEAT §, T§ 919 U 31 ITeHT FAS AL 91T §1 3@ A 2reg AsT AT AT
21 U 98 suH) de aF 81 ST &1 e 5@ va dvfas IR A 83 Rar sirar §1 SueaT et wy

v d & TR AEe PSR oium | www.ErForum.Net

R # oft salaer arfdfer v wafaa ereg w1Et § 3T smer-gls #F oot @ arer et & A oft swe 3w RF P Aqew
781 ¥1 AfF Rrammer it g i a1a ¥ A veTe afdfr F AT sfisarort $r o @ §) sEer 214t eraredt F
Y I3T T TATIT AT 6T § 1 T§ Tl ety faeaqg a1 el afeere (veeiiss) & qedt & cas @ ot as1 A o
W@IRI

.) 39T TR F IHTAR "Tellaer afferar H F47 374 g2
[Question ID = 446]

1. g2dl & HIHTIRT T STeFcR s [Option ID = 2005]

2. 92T & aAT # g 3R 38 HROT ANH 7 glet arel aRadsl’ [Option ID = 2001]
3. gt &r €} a1fy &TaT [Option ID = 2003]

4. g &l el 31T & gHaT [Option ID = 2008]

Correct Answer :-

o AT & AT # gig 3R b HROT HGH # gle arel TRaceT’ [Option ID = 2001]

2) 3YYFA AGHA F HTAR A HT el & |

ITHT AregT F WA AY Talarer arfeer F1 3 ¥ g & g 7 i 3R 3wF FRor Alww 7 @ arer wRader gt
F AT9A A 81 W 39 gig (9 100 wrat F 3itwa aTvae W 10 $RegT$e it = §) & aRoneA Faww aiver &

AT # qgama, RaEvst Ak 7AfiRt & Raes, w9 & sava 7 3fg 3 aeeafa qur Seq sera w gemat & w9
& | 3T a2



Teltaer AT gforan i Rreeh 72 TAEAT §, TF a1 U HTH HTEHT TS g AT §1 3H A 2reg 41T SRFAR Ao
21 U 98 SHH a8 d& 71 ST &1 e 39 Ta I TR AT 88 AT J1ar §1 SIea? de
T & T TheeTe TUR #) 380 F1E TaT 487 ¢

T # ot Teliarer arfaer v yaford e 78T & 31X smer-als & ot &t arer RN F O sft swehT 310F FE Aqew
8T &1 e fararer it gfovar it ara Y A Teiae aTfFer F AT ARSIt Ft 31 W §| sHHT 214 araredy #
W T3T WA TATAT ST T ¢ T8 T iy feagg a1 el ajare (veeiss) & qed @ cas @ oft a1 A o
wIe

q.) SAETAR AN Y Teaer ATfeer F IR & FIT AIATE ?
[Question ID = 449]

1. TER &I R8T & I GaRT 7T & [Option ID = 2013]

2. TER & fordlY 31 I8 & WaT & [Option ID = 2015]

3. FhelgTel TAR I Tallael aifaieT ¥ ShIs T Al ¢ [Option ID = 2010]
4. Felee ATfHAIT & LR T Fo w761 gram [Option ID = 2012]

Correct Answer :-

o ThelgTel HHR &I Tollaer alfefer & SIS WaRT 7eT & [Option ID = 2010]

3) foreeT & ¥ FIET Ueg FHURT GATH T T 321601 §2 [Question ID = 433]

1. TSTHAR [Option ID = 1946]
2. 9rd#sX [Option ID = 1952]
3. FeTss [Option ID = 1950]
4. IEwaRr [Option ID = 1948]
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Correct Answer :-
o dIdrFs [Option ID = 1952]

4) IR gH 9¢ T, R gF 9¢ Tt WA e 8 i T Y qeTs e, A AR T T wund e = 82

[Question ID = 430]

1. TR 3 [Option ID = 1939]
2. gT¥T W [Option ID = 1937]
3. dR T [Option ID = 1941]

4, #TFT T [Option ID = 1943]

Correct Answer :-
o o T [Option ID = 1941]

5) '"da’ F1 G RAedq #1-
[Question ID = 434]

1. G¢+1Tqd [Option ID = 1956]
2. T&+q [Option ID = 1953]

3. He+1q [Option ID = 1958]
4, FeT+1g [Option ID = 1960]



Correct Answer :-
e Her+udg [Option ID = 1960]

6) U IrT el & & TEHT AsE HT I Y|

[Question ID = 442]

1. 1 [Option ID = 1985]
2. fayd [Option ID = 1991]
3. &t [Option ID = 1989]
4, T [Option ID = 1987]

Correct Answer :-
e HIH [Option ID = 1985]

7) fw aIT a1 F YYFA HEFR F A F 94, R 77 RAawedd 7 § :Y|
Aw Y R A, dled dgaa A |
[Question ID = 437]

1. IUT & [Option ID = 1968]
2. 3eai@ [Option ID = 1962]

3. fTa=T [Option ID = 1966]
4. 9 [Option ID = 1964]

correct ansiriigiN€Er's Forum | www.ErForum.Net

o 3eoid [Option ID = 1962]
8) fArafafd ereg ¥ wAiar s &1 99+, T v Rweul F ¥ FY|
e

9

[Question ID = 444]

1. @efar [Option ID = 1999]
2. #ar [Option ID = 1993]

3. faiR= [Option ID = 1997]
4, reraT [Option ID = 1995]

Correct Answer :-
e &gT [Option ID = 1993]

9) At asg & AT rsg &1 994, QU 71w RAweal # § FI|
asc
[Question ID = 441]

1. TAT [Option ID = 1983]
2. 51E [Option ID = 1979]



3. ToleT [Option ID = 1978]
4, I [Option ID = 1981]

Correct Answer :-
 Hoio [Option ID = 1978]

10) Frafaf@e emay 1 s w2 ¥
MR A AER HI&AT
[Question ID = 438]

1. 37HFHT FHIH T [Option ID = 1975]

2. AT ASET A 37TS &hgaT [Option ID = 1969]
3. HEATUT &1 &I [Option ID = 1973]

4, T gl I TAT =TT [Option ID = 1971]

Correct Answer :-

o I3 ersal A ’AH FHgalT [Option ID = 1969]
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